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***************** first modified clause *****************
2.1
General organization

Each channel has its own coding and interleaving scheme. However, the channel coding and interleaving is organized in such a way as to allow, as much as possible, a unified decoder structure.

Each channel uses the following sequence and order of operations:

‑
the information bits are coded with a systematic block code, building words of information + parity bits;

‑
these information + parity bits are encoded with a convolutional code or a turbo code, building the coded bits;

‑
reordering and interleaving the coded bits, and adding a stealing flag, gives the interleaved bits.

All these operations are made block by block, the size of which depends on the channel. However, most of the channels use a block of either 456 coded bits or 1368 coded bits, corresponding to 456 coded symbols, which is interleaved and mapped onto bursts in a very similar way for all of them. This block of 456 coded symbols is the basic structure of the channel coding scheme. Figures 1a, 1b, 1c, 1d, 1e, 1f, 1g, 1h, 1i, 1j, 1k, 1l and 2 give diagrams showing the general structure of the channel coding.

In the case of full rate speech TCH, a block of 456 coded bits carries the information of one speech frame. In case of control channels, it carries one message.

In the case of half rate speech TCH, the information of one speech frame is carried in a block of 228 coded bits.

In the case of the Enhanced full rate speech the information bits coming out of the source codec first go through a preliminary channel coding. Then the channel coding as described above takes place.

In the case of 8-PSK modulated speech TCH, the information of one speech frame is carried in a block of 1368 coded bits (456 coded symbols) for full rate channels or 684 coded bits (228 coded symbols) for half rate channels.

In the case of a packet switched channel the block of 456, 1096, 1384, 1848, 2200, 2312 or 2748 coded bits carries one radio block.
In the case of E-TCH/F28.8 or E-TCH/F43.2, the block of 1368 coded bits (456 coded symbols) carries one radio block. In the case of E-TCH/F32.0, the block of 1392 coded bits (464 coded symbols) carries one radio block.

In the case of FACCH, a coded message block of 456 bits is divided into eight sub‑blocks. The first four sub‑blocks are sent by stealing the even numbered bits of four timeslots in consecutive frames used for the TCH. The other four sub‑blocks are sent by stealing the odd numbered bits of the relevant timeslot in four consecutive used frames delayed 2 or 4 frames relative to the first frame. Along with each block of 456 coded bits there is, in addition, a stealing flag (8 bits), indicating whether the block belongs to the TCH or to the FACCH. In the case of SACCH, BCCH, CCCH or CTSCCH, this stealing flag is dummy. In the case of a packet switched channel, these bits are used to indicate the coding scheme used.

In the case of E-FACCH/F, a coded message block of 456 bits is divided into four sub-blocks. The four sub-blocks are sent by stealing all symbols of four timeslots in consecutive frames used for the E-TCH and using GMSK modulation. The indication of the E-FACCH/F is based on the identification of the modulation.  Along with each block of 456 coded bits there is, in addition, a stealing flag (8 bits), indicating whether the block belongs to the E-FACCH, FACCH or TCH.

Some cases do not fit in the general organization, and use short blocks of coded bits which are sent completely in one timeslot. They are the random access messages of:

-
the RACH;

-
or PRACH, CPRACH and MPRACH;

on uplink and the synchronization information broadcast on the SCH or CSCH on the downlink. In CTS, they are the access request message of the CTSARCH on uplink and the information broadcast on the CTSBCH-SB on downlink.

In the coding/multiplexing unit of FLO, error detection, forward error correction and rate matching is applied to each transport channel independently. However the transport channels share a common multiplexing, TFCI mapping, interleaving and burst mapping. All these operations are made every transmission time interval and the number of coded bits produced by the coding/multiplexing unit depends on the basic physical subchannel. In the case of full rate GMSK basic physical subchannel, blocks of 464 bits are produced. In the case of half rate GMSK basic physical subchannel, blocks of 232 bits are produced. In the case of full rate 8PSK basic physical subchannel, blocks of 1392 bits are produced. In the case of half rate 8PSK basic physical subchannel, blocks of 696 bits are produced.

[image: image1.wmf] 

speech frame

 

112 bits

 

3.2

 

 

speech frame

 

260 bits

 

3.1

 

 

d

ata frame

 

N0 bits

 

3.n.1

 

RLC block

 

Q0 bits

 

5.1.n.1

 

speech frame

 

244 bits

 

3.1

 

interface

 

1

 

interface

 

2

 

TCH/HS

 

(half rate

 

speech TCH)

 

TCH/FS

 

(full rate

 

speech TCH)

 

data TCHs

 

cyclic code

 

+ tail

 

in: 260 bits

 

out: 267 bits

 

3.1.2.1

 

cyclic code

 

+ tail

 

in: 112 bits

 

out: 121 bits

 

3.2.1

 

Fire code

 

+tail

 

in: 184 bits

 

out: 228 bits

 

4.1.2

 

+tail

 

in: N0 bits

 

out: N1 bits

 

3.n.2

 

cyclic code

 

+ tail

 

in: Q0 bits

 

out: Q1 bits

 

5.1.n.2

 

cyclic code

 

+ repetition

 

in: 244 bits

 

out: 260 bits

 

3.1.1

 

interface

 

3

 

interface

 

4

 

TCH/F2.4

 

others

 

encryption unit

 

diagonal interleaving

 

+ stealing flags

 

in: 456 bits

 

out: 4 blocks

 

diagonally interleaved

 

to depth 19, starting

 

on consecutive bursts

 

3.n.4

 

reordering and partitioning

 

+stealing flag

 

in: 456 bits

 

out: 8 blocks

 

3.1.3

 

block rectangular

 

interleaving

 

in: 8 blocks

 

out: pairs of

 

blocks

 

5.1.n.4 

®

 4.1.4

 

block diagonal

 

interleaving

 

in: 8 blocks

 

out: pairs of

 

blocks

 

3.1.3

 

reordering and partitioning

 

+stealing flag

 

in: 228 bits

 

out: 4 blocks

 

3.2.3

 

block diagonal

 

interleaving

 

in: 4 blocks

 

out: pairs of

 

blocks

 

3.2.3

 

convolutional

 

code

 

k=7, 2 classes

 

in: 121 bits

 

out: 228 bits

 

3.2.2

 

convolutional

 

code

 

k=5, 2 classes

 

in: 267 bits

 

out: 456 bits

 

3.1.2.2

 

convolutional

 

code

 

k=5, rat

e 1/2

 

in: 228 bits

 

out: 456 bits

 

4.1.3

 

convolutional

 

code

 

k=5, rate r

 

in: N1 bits

 

out: 456 bits

 

3.n.3

 

convolutional

 

code

 

k=5, rate r

 

in: Q1 bits

 

out: 456 bits

 

5.1.n.3

 

PDTCH(1

-

4)

 

reordering and partitioning

 

+code identifier

 

in: 456 bi

ts

 

out: 8 blocks

 

5.1.n.4 

®

 4.1.4

 

Interface

 

0

 

TCH/EFS

 

(Enhanced full

 

 rate

 

speech TCH)

 

CS

-

1

 

others

 

CS

-

4

 

others

 


Figure 1a: Channel Coding and Interleaving Organization for speech, circuit switched data and GPRS packet data channels


In each box, the last line indicates the chapter defining the function. In the case of data TCHs, N0, N1 and n depend on the type of data TCH. In the case of PDTCH, Q0, Q1 and n depend on the coding scheme.

Interfaces:

0)
speech bits from the speech encoder (s);

1)
information bits (d);

2)
information + parity + tail bits (u);

3)
coded bits (c);

4)
interleaved bits (e).
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Figure 1b: Channel Coding and Interleaving Organization, adaptive multi-rate speech


In each box, the last line indicates the chapter defining the function.

Interfaces: 

0)
speech bits from the speech encoder (s);

1)
reordered speech bits (d);

2)
speech + parity + tail bits (u);

3)
coded bits (c);

4)
interleaved bits (e).
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Figure 1c: Channel Coding and Interleaving Organization, wide-band adaptive multi-rate speech
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Figure 1d: Channel Coding and Interleaving Organization for ECSD 8-PSK modulated signals 

In each box, the last line indicates the chapter defining the function.
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Figure 1e: Channel Coding and Interleaving Organization for EGPRS Packet Data Channels
In each box, the last line indicates the chapter defining the function.
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Figure 1f: Channel Coding and Interleaving Organization for EGPRS2-A Uplink Packet Data Channels
In each box, the last line indicates the chapter defining the function.


[image: image7]
Figure 1g: Channel Coding and Interleaving Organization for EGPRS2-B Uplink Packet Data Channels, UBS-5 to UBS-9
In each box, the last line indicates the chapter defining the function.
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Figure 1h: Channel Coding and Interleaving Organization for EGPRS2-B Uplink Packet Data Channels, UBS-10 to UBS-12
In each box, the last line indicates the chapter defining the function.
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Figure 1i: Channel Coding and Interleaving Organization for EGPRS2-A Downlink Packet Data Channels, DAS-5 to DAS-9
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Figure 1j: Channel Coding and Interleaving Organization for EGPRS2-A Downlink Packet Data Channels, DAS-10 to DAS-12
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Figure 1k: Channel Coding and Interleaving Organization for EGPRS2-B Downlink Packet Data Channels, DBS-5 to DBS-9

[image: image12]
Figure 1l: Channel Coding and Interleaving Organization for EGPRS2-B Downlink Packet Data Channels, DBS-10 to DBS-12
***************** next modified clause *****************
5.1a
Packet data traffic channels (PDTCH) for EGPRS2
For each of EGPRS2-A downlink, EGPRS2-B downlink and EGPRS2-B uplink, eight additional coding schemes are specified for the packet data traffic channels. For EGPRS2-A uplink, five additional coding schemes are specified for the packet data traffic channels.
5.1a.1
General descriptions of channel coding functions

5.1a.1.1
Header
a) Parity bits
Given a block of N bits, {h(0),…,h(N-1)}, eight header parity bits {p(0),p(1),...,p(7)} are defined in such a way that in GF(2) the binary polynomial:

h(0)D8+N-1 +...+ h(N-1)D8 + p(0)D7 +...+ p(7), when divided by:

D8 + D6 + D3 + 1, yields a remainder equal to:

D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
The parity bits are added after the block of N bits, the result being a block of N+8 bits, {b(0),…,b(N+7)}, defined as:
b(k)

= h(k)


for k = 0,1,...,N-1
b(k)

= p(k‑N)

for k = N,...,N+7
b) Tail-biting convolutional encoder
Given the block of N+8 bits, {b(0),…,b(N+7)}, the six last bits are added before the block of N+8 bits, the result being a block of N+14 bits {c(‑6),…,c(0),c(1),...,c(N+7)} with six negative indexes:

c(k)

= b(N+8+k)
for k = -6,...,-1
c(k)

= b(k)


for k = 0,1,...,N+7

This block of N+14 bits {c(-6),…,c(0),c(1),...,c(N+7)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6

This results in a block of 3(N+8) coded bits {C(0),...,C(3(N+8)-1)} defined by:

C(3k)     = c(k) + c(k‑2) + c(k‑3) + c(k‑5) + c(k‑6)

C(3k+1) = c(k) + c(k‑1) + c(k‑2) + c(k‑3) + c(k‑6)

C(3k+2) = c(k) + c(k‑1) + c(k‑4) + c(k‑6)     for k = 0,1,...,N+7
5.1a.1.2
Data encoded with convolutional code
a) Parity bits
Given a block of N bits, {i(0),…,i(N-1)}, twelve data parity bits {p(0),p(1),...,p(11)} are defined in such a way that in GF(2) the binary polynomial:

i(0)D12+N-1 +...+ i(N-1)D12 + p(0)D11 +...+ p(11), when divided by:

D12 + D11 + D10 + D8 + D5 + D4 + 1, yields a remainder equal to:

D11 + D10 + D9 + D8 + D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
The parity bits are added after the block of N bits, the result being a block of N+12 bits, {b(0),…,b(N+11)}, defined as:

b(k)

= i(k)


for k = 0,1,...,N-1

b(k)

= p(k‑N)

for k = N,...,N+11
b) Convolutional encoding
Given the block of N+12 bits, {b(0),…,b(N+11)}, six tail bits equal to 0 are added to the block of N+12 bits, the result being a block of N+18 bits {c(0),...,c(N+17)}:

c(k)

= b(k)


for k = 0,1,...,N+11
c(k)

= 0



for k = N+12,…,N+17 (tail bits)

This block of N+18 bits {c(0),...,c(N+17)} is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6
This results in a block of 3(N+18) coded bits, {C(0),...,C(3(N+18)-1)}, defined by:

C(3k)     = c(k) + c(k‑2) + c(k‑3) + c(k‑5) + c(k‑6)

C(3k+1) = c(k) + c(k‑1) + c(k‑2) + c(k‑3) + c(k‑6)

C(3k+2) = c(k) + c(k‑1) + c(k-4) + c(k-6)     for k = 0,1,...,N+17; c(k) = 0 for k < 0
5.1a.1.3
Data encoded with turbo code
Given a block of N bits, {i(0),…,i(N-1)}, the following steps are taken:
5. 1a.1.3.1
Parity bits

Parity bits are added as defined in subclause 5.1a.1.2, the result being a block of N+12 bits, {b(0),…,b(N+11)}.
5.1a.1.3.2
Turbo encoding

The block of K=N+12 bits is encoded with a Turbo code. The input bits to the Turbo coder are defined as:
xi =b(i-1)
for i=1,…,K
The output bits from the Turbo coder are defined as:

C(3i-3) 

= xi
C(3i-2) 

= zi
C(3i-1) 

= z'i     for i=1,…,K

and
C(3K+2i-2) 
= xK+i
C(3K+2i-1) 
= zK+i
C(3K+2i+4) 
= x'K+i
C(3K+2i+5)
= z'K+i    for i=1,2,3
where zi, z'i and x'i are defined below.
The scheme of Turbo coder is a Parallel Concatenated Convolutional Code (PCCC) with two 8-state constituent encoders and one Turbo code internal interleaver.  The coding rate of Turbo coder is 1/3.  The structure of Turbo coder is illustrated in figure 2a.
The transfer function of the 8-state constituent code for PCCC is:


G(D) = 
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G8(D) = 1 + D2 + D3,


G9(D) = 1 + D + D3. 
The initial value of the shift registers of the 8-state constituent encoders shall be all zeros when starting to encode the input bits.
Output from the Turbo coder is

 x1, z1, z'1, x2, z2, z'2, …, xK, zK, z'K,
where x1, x2, …, xK are the bits input to the Turbo coder i.e. both first 8-state constituent encoder and Turbo code internal interleaver, and K is the number of bits, and z1, z2, …, zK and z'1, z'2, …, z'K are the bits output from first and second 8-state constituent encoders, respectively.
The bits output from Turbo code internal interleaver are denoted by x'1, x'2, …, x'K, and these bits are to be input to the second 8-state constituent encoder.
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Figure 2a: Structure of rate 1/3 Turbo coder (dotted lines apply for trellis termination only)

5.1a.1.3.3
Trellis termination for Turbo coder

Trellis termination is performed by taking the tail bits from the shift register feedback after all information bits are encoded. Tail bits are padded after the encoding of information bits.

The first three tail bits shall be used to terminate the first constituent encoder (upper switch of figure 2a in lower position) while the second constituent encoder is disabled. The last three tail bits shall be used to terminate the second constituent encoder (lower switch of figure 2a in lower position) while the first constituent encoder is disabled.

The transmitted bits for trellis termination shall then be:

xK+1, zK+1, xK+2, zK+2, xK+3, zK+3, x'K+1, z'K+1, x'K+2, z'K+2, x'K+3, z'K+3.
5.1a.1.3.4
Turbo code internal interleaver

The Turbo code internal interleaver consists of bits-input to a rectangular matrix with padding, intra-row and inter-row permutations of the rectangular matrix, and bits-output from the rectangular matrix with pruning. The bits input to the Turbo code internal interleaver are denoted by [image: image15.wmf]K
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The following subclause specific symbols are used in subclauses 5.1a.1.3.4.1 to 5.1a.1.3.4.3:

K
Number of bits input to Turbo code internal interleaver

R
Number of rows of rectangular matrix

C
Number of columns of rectangular matrix

p
Prime number

v
Primitive root
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Base sequence for intra-row permutation

qi
Minimum prime integers

ri
Permuted prime integers
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Inter-row permutation pattern
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Intra-row permutation pattern of i-th row
i
Index of row number of rectangular matrix

j
Index of column number of rectangularmatrix

k
Index of bit sequence

5.1a.1.3.4.1
Bits-input to rectangular matrix with padding
The bit sequence [image: image19.wmf]K
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 input to the Turbo code internal interleaver is written into the rectangular matrix as follows.

(1)
Determine the number of rows of the rectangular matrix R, such that:
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The rows of rectangular matrix are numbered 0, 1, …, R - 1 from top to bottom.

(2)
Determine the prime number to be used in the intra-permutation, p, and the number of columns of rectangular matrix, C, such that:

if (481 [image: image21.wmf]£

 K [image: image22.wmf]£

 530) then
p = 53 and C = p.
else

Find minimum prime number p from table 0 such that
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end if

The columns of rectangular matrix are numbered 0, 1, …, C - 1 from left to right.

Table 0: List of prime number p and associated primitive root v
	p
	v
	p
	v
	p
	v
	p
	v
	p
	v

	7
	3
	47
	5
	101
	2
	157
	5
	223
	3

	11
	2
	53
	2
	103
	5
	163
	2
	227
	2

	13
	2
	59
	2
	107
	2
	167
	5
	229
	6

	17
	3
	61
	2
	109
	6
	173
	2
	233
	3

	19
	2
	67
	2
	113
	3
	179
	2
	239
	7

	23
	5
	71
	7
	127
	3
	181
	2
	241
	7

	29
	2
	73
	5
	131
	2
	191
	19
	251
	6

	31
	3
	79
	3
	137
	3
	193
	5
	257
	3

	37
	2
	83
	2
	139
	2
	197
	2
	
	

	41
	6
	89
	3
	149
	2
	199
	3
	
	

	43
	3
	97
	5
	151
	6
	211
	2
	
	


(3)
Write the input bit sequence [image: image25.wmf]K
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C rectangular matrix row by row starting with bit y1 in column 0 of row 0:
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where yk = xk for k = 1, 2, …, K and if R[image: image28.wmf]´
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K, the dummy bits are padded such that [image: image30.wmf]1
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 for k = K + 1, K + 2, …, R[image: image31.wmf]´

C.  These dummy bits are pruned away from the output of the rectangular matrix after intra-row and inter-row permutations.

5.1a.1.3.4.2
Intra-row and inter-row permutations
After the bits-input to the R[image: image32.wmf]´

C rectangular matrix, the intra-row and inter-row permutations for the R[image: image33.wmf]´

C rectangular matrix are performed stepwise by using the following algorithm with steps (1) – (6):
(1)
Select a primitive root v from table 2 in section 4.2.3.2.3.1, which is indicated on the right side of the prime number p.

(2)
Construct the base sequence [image: image34.wmf](
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 for intra-row permutation as:
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j = 1, 2,…, (p - 2), and s(0) = 1.

(3)
Assign q0 = 1 to be the first prime integer in the sequence [image: image36.wmf]{
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, and determine the prime integer qi in the sequence [image: image37.wmf]{
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 to be a least prime integer such that g.c.d(qi, p - 1) = 1, qi > 6, and qi > q(i - 1) for each i = 1, 2, …, R – 1.  Here g.c.d. is greatest common divisor.

(4)
Permute the sequence [image: image38.wmf]{
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rT(i) = qi,  i = 0, 1, …, R - 1,

where [image: image40.wmf](
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 is the inter-row permutation pattern defined as the one of the four kind of patterns, which are shown in table 0a, depending on the number of input bits K.

Table 0a: Inter-row permutation patterns for Turbo code internal interleaver
	Number of input bits

K
	Number of rows R
	Inter-row permutation patterns

<T(0), T(1), …, T(R - 1)>

	(40[image: image41.wmf]£

K[image: image42.wmf]£

159)
	5
	<4, 3, 2, 1, 0>

	(160[image: image43.wmf]£

K[image: image44.wmf]£

200) or (481[image: image45.wmf]£

K[image: image46.wmf]£

530)
	10
	<9, 8, 7, 6, 5, 4, 3, 2, 1, 0>

	(2281[image: image47.wmf]£
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2480) or (3161[image: image49.wmf]£
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3210)
	20
	<19, 9, 14, 4, 0, 2, 5, 7, 12, 18, 16, 13, 17, 15, 3, 1, 6, 11, 8, 10>

	K = any other value
	20
	<19, 9, 14, 4, 0, 2, 5, 7, 12, 18, 10, 8, 13, 17, 3, 1, 16, 6, 15, 11>


(5)
Perform the i-th (i = 0, 1, …, R - 1) intra-row permutation as:

if (C = p) then
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,   j = 0, 1, …, (p - 2), and Ui(p - 1) = 0,

where Ui(j) is the original bit position of j-th permuted bit of i-th row.

end if

if (C = p + 1) then
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,   j = 0, 1, …, (p - 2).  Ui(p - 1) = 0, and Ui(p) = p,

where Ui(j) is the original bit position of j-th permuted bit of i-th row, and 

if (K = R[image: image53.wmf]´

C) then

Exchange UR-1(p) with UR-1(0).
end if

end if

if (C = p - 1) then 
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where Ui(j) is the original bit position of j-th permuted bit of i-th row.

end if

(6) Perform the inter-row permutation for the rectangular matrix based on the pattern [image: image55.wmf](
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where T(i) is the original row position of the i-th permuted row.
5.1a.1.3.4.3
Bits-output from rectangular matrix with pruning

After intra-row and inter-row permutations, the bits of the permuted rectangular matrix are denoted by y'k:
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The output of the Turbo code internal interleaver is the bit sequence read out column by column from the intra-row and inter-row permuted R [image: image57.wmf]´

 C rectangular matrix starting with bit y'1 in row 0 of column 0 and ending with bit y'CR in row R - 1 of column C - 1.  The output is pruned by deleting dummy bits that were padded to the input of the rectangular matrix before intra-row and inter row permutations, i.e. bits y'k that corresponds to bits yk with k > K are removed from the output.  The bits output from Turbo code internal interleaver are denoted by x'1, x'2, …, x'K, where x'1 corresponds to the bit y'k with smallest index k after pruning, x'2 to the bit y'k with second smallest index k after pruning, and so on. The number of bits output from Turbo code internal interleaver is K and the total number of pruned bits is:

R [image: image58.wmf]´

 C – K.

5.1a.1.4
PAN

a) Parity bits
Given a block of 25 bits, {pn(0),…,pn(24)}, ten PAN parity bits {p(0),p(1),...,p(9)} are defined in such a way that in GF(2) the binary polynomial:
pn(0)D29 +...+ pn(19)D10 + p(0)D9 +...+ p(9), when divided by:

[D10 + D9 + D5 + D4 + D + 1], yields a remainder equal to:

D9 + D8 + D7 + D6 + D5 + D4 + D3 + D2 + D + 1.
The five last bits of the PAN, {pn(20),…,pn(24)}, are added bit-wise modulo 2 to the 5 last parity bits {p(5),…,p(9)}. The modified parity bits are added after the block of 20 bits, the result being a block of 30 bits, {b(0),…,b(29)}, defined as:

b(k)

= pn(k)



for k = 0,...,19
b(k)

= p(k‑20)



for k = 20,...,24
b(k)

= p(k-20) + pn(k-5)
for k = 25,…,29
b) Tail-biting convolutional encoder
The six last bits are added before the block of 30 bits, the result being a block of 36 bits {c(‑6),…,c(0),c(1),...,c(29)} with six negative indices:

c(k)

= b(30+k)

for k = -6,...,-1

c(k)

= b(k)


for k = 0,1,...,29
This block of 36 bits is encoded with the 1/3 rate convolutional mother code defined by the polynomials:

G4 = 1 + D2 + D3 + D5 + D6

G7 = 1 + D + D2 + D3 + D6

G5 = 1 + D + D4 + D6
This results in a block of 90 coded bits {C(0),...,C(89)} defined by:

C(3k)     = c(k) + c(k‑2) + c(k‑3) + c(k‑5) + c(k‑6)

C(3k+1) = c(k) + c(k‑1) + c(k‑2) + c(k‑3) + c(k‑6)

C(3k+2) = c(k) + c(k‑1) + c(k‑4) + c(k‑6)     for k = 0,1,...,29
5.1a.2
General descriptions of interleaving functions
5.1a.2.1
Interleaver type 1
Given a block of NC bits, {c(0),...,c(NC-1)} and the parameter a, interleaving is performed according to the following rule:

i(j) = c(k)
for
k = 0,1,..., NC-1




j = NCB/4 + (((k div 4)+(NC div 16)B)a mod NC/4)




B = 2(k mod 2) + (k mod 4) div 2
This results in a block of NC bits {i(0),...,i(NC-1)}.
5.1a.2.2
Interleaver type 2
Given a block of NC bits, {c(0),...,c(NC-1)} and the parameter a, interleaving is performed according to the following rule:

i(j) = c(k)
for
k = 0,1,..., NC-1




j = ka mod NC
This results in a block of NC bits {i(0),...,i(NC-1)}.
5.1a.3
Packet data block type 14 (UAS-7)
5.1a.3.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 966 information bits {d(0),d(1),...,d(965).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,490
i2(k-491) = d(k)

for k = 491,...,940
And if a PAN is included:
pn(k-941) = d(k)

for k = 941,...,965
5.1a.3.2
Header coding

The header {h(0),...,h(40)} is coded as defined in subclause 5.1a.1.1, with N=41, resulting in a block of 147 bits, {C(0),...,C(146)}.
The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 136 bits, {hc(0),...,hc(135)}.
5.1a.3.3
Data coding
Each data part, {i1(0),…,i1(449)} and {i2(0),…,i2(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in two coded blocks of 1404 bits, {C1(0),...,C1(1403)} and {C2(0),...,C2(1403)}.
Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(33*k+j) for k=0,…,41, j=2, 5, 8, 10, 11, 13, 17, 19, 23, 25, 29, 31 and 32; and

C(33*42+j) for j=2, 5, 8, 10, 11, 13 and 17, 
except C(33*k+10) for k=4, 13, 22, 31 and 40 that are not punctured.
	C(33*k+10) for k=4, 13, 22, 31 and 40; and

C(33*k) for k=0, 1, 2, 3, 4, 6, 7, 8, 9, 11, 12, 13, 14, 16, 17, 18, 19, 21, 22, 23, 24, 25, 27, 28, 29, 30, 32, 33, 34, 35, 37, 38, 39 and 40.

	P2
	C(33*k+j) for k=0,…,41, j=1, 3, 6, 9, 12, 15, 20, 22, 24, 26, 27 and 30; and
C(33*42+j) for j=1, 3, 6, 9, 12 and 15,
except C(33*k+24) for k=1, 10, 19, 28 and 37 that are not punctured.
	C(33*k+24) for k=1, 10, 19, 28 and 37; and

C(33*k+4) for k=0, 1, 2, 4, 5, 6, 7, 9, 10, 11, 12, 14, 15, 16, 17, 19, 20, 21, 22, 23, 25, 26, 27, 28, 30, 31, 32, 33, 35, 36, 37, 38, 40 and 41.


If a PAN is not included, the result is two blocks of 856 bits, {c1(0),...,c1(855)} and {c2(0),...,c2(855)}.
If a PAN is included, the result is two blocks of 817 bits, {c1(0),...,c1(816)} and {c2(0),...,c2(816)}.
NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.3.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.
The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 78 bits, {pc(0),...,pc(77)}.
5.1a.3.5
Interleaving

a)
Header

The header, {hc(0),...,hc(135)}, is interleaved as defined in subclause 5.1a.2.1, with NC=136 and a=9, resulting in a block of 136 bits, {hi(0),...,hi(135)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,855
dc(k) = c2(k-856)
for k = 856,...,1711

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,816
dc(k) = c2(k-817)
for k = 817,...,1633
dc(k) = pc(k-1634)
for k = 1634,...,1711

The block {dc(0),...,dc(1711)} is interleaved as defined in subclause 5.1a.2.1, with NC=1712 and a=187, resulting in a block of 1712 bits, {di(0),...,di(1711)}.
5.1a.3.6
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(428B+j)

for j = 0,...,213
e(B,j) = hi(34B+j-214)
for j = 214,...,231
e(B,j) = q(2B+j-232)

for j = 232,233
e(B,j) = hi(34B+j-216)
for j = 234,...,249
e(B,j) = di(428B+j-36)
for j = 250,...,463
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UAS-7, UAS-8 or UAS-9.
b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,200+k) with e(B,218+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 34, 35, 38, 39, 42, 43, 46, 47, 50 and 51.
5.1a.4
Packet data block type 15 (UAS-8)

5.1a.4.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1069 information bits {d(0),d(1),...,d(1068)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1094 information bits {d(0),d(1),...,d(1093).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,554

i2(k-555) = d(k)

for k = 555,...,1068
And if a PAN is included:

pn(k-1069) = d(k)
for k = 1069,...,1093
5.1a.4.2
Header coding

The header coding is the same as for for UAS-7 as specified in subclause 5.1a.3.2.
5.1a.4.3
Data coding
Each data part, {i1(0),…,i1(513)} and {i2(0),…,i2(513)}, is coded as defined in subclause 5.1a.1.2, with N=514, resulting in two coded blocks of 1596 bits, {C1(0),...,C1(1595)} and {C2(0),...,C2(1595)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(15*k+j) for k=0,…,105, j=2, 4, 8, 9, 11, 12 and 13; and

C(15*106+j) for j=2 and 4, 
except C(15*k+9) for k=13, 40, 67 and 94 that are not punctured.
	C(15*k+9) for k=13, 40, 67 and 94; and
C(15*k+5) for k=0, 3, 6, 9, 12, 15, 18, 21, 24, 27, 30, 33, 36, 39, 42, 45, 48, 51, 54, 57, 60, 63, 66, 69, 72, 76, 79, 82, 85, 88, 91, 94, 97, 100 and 103

	P2
	C(15*k+j) for k=0,…,105, j=0, 1, 3, 6, 7, 10 and 14; and

C(15*106+j) for j=0,1 and 3, 
except C(15*k+1) for k=8, 31, 54, 77 and 100 that are not punctured.
	C(15*k+1) for k=8, 31, 54, 77 and 100; and

C(15*k+13) for k=1, 4, 7, 10, 13, 16, 19, 22, 25, 28, 31, 34, 38, 41, 44, 47, 50, 53, 56, 59, 62, 65, 68, 71, 74, 77, 80, 83, 86, 89, 92, 95, 98 and 101


If a PAN is not included, the result is two blocks of 856 bits, {c1(0),...,c1(855)} and {c2(0),...,c2(855)}.

If a PAN is included, the result is two blocks of 817 bits, {c1(0),...,c1(816)} and {c2(0),...,c2(816)}.
NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.4.4
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.

5.1a.4.5
Interleaving

The interleaving is the same as for UAS-7 as specified in subclause 5.1a.3.5.
5.1a.4.6
Mapping on a burst

The mapping is the same as for UAS-7 as specified in subclause 5.1a.3.6.
5.1a.5
Packet data block type 16 (UAS-9)
5.1a.5.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1229 information bits {d(0),d(1),...,d(1228)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1254 information bits {d(0),d(1),...,d(1253).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).
The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,40

i1(k-41) = d(k)

for k = 41,...,634

i2(k-635) = d(k)

for k = 635,...,1228

And if a PAN is included:

pn(k-1229) = d(k)
for k = 1229,...,1253
5.1a.5.2
Header coding

The header coding is the same as for for UAS-7 as specified in subclause 5.1a.3.2.
5.1a.5.3
Data coding

Each data part, {i1(0),…,i1(593)} and {i2(0),…,i2(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in two coded blocks of 1836 bits, {C1(0),...,C1(1835)} and {C2(0),...,C2(1835)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(15*k+j) for k=0,…,121, j=1, 2, 3, 5, 8, 9, 10 and 14; and

C(15*122+j) for j=1, 2, 3 and 5 

	C(15*k+13) for k=0, 3, 6, 9, 12, 15, 18, 21, 25, 28, 31, 34, 37, 40, 43, 47, 50, 53, 56, 59, 62, 65, 69, 72, 75, 78, 81, 84, 87, 91, 94, 97, 100, 103, 106, 109, 112, 116 and 119

	P2
	C(15*k+j) for k=0,…,121, j=0, 4, 5, 6, 7, 11, 12 and 13; and
C(15*122+j) for j=0, 4 and 5; and
C(15*121+9)
	C(15*k+9) for k=1, 4, 7, 10, 13, 16, 19, 23, 26, 29, 32, 35, 38, 41, 44, 48, 51, 54, 57, 60, 63, 66, 70, 73, 76, 79, 82, 85, 88, 92, 95, 98, 101, 104, 107, 110, 114, 117 and 120

	P3
	C(15*k+j) for k=0,…,121, j=2, 3, 4, 8, 10, 11, 12 and 14; and

C(15*122+j) for j=2, 3 and 4; and
C(6)
	C(15*k+6) for k=2, 5, 8, 11, 14, 17, 20, 24, 27, 30, 33, 36, 39, 42, 46, 49, 52, 55, 58, 61, 64, 68, 71, 74, 77, 80, 83, 86, 89, 93, 96, 99, 102, 105, 108, 111, 115, 118 and 121


If a PAN is not included, the result is two blocks of 856 bits, {c1(0),...,c1(855)} and {c2(0),...,c2(855)}.

 If a PAN is included, the result is two blocks of 817 bits, {c1(0),...,c1(816)} and {c2(0),...,c2(816)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.

5.1a.5.4
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.

5.1a.5.5
Interleaving

The interleaving is the same as for UAS-7 as specified in subclause 5.1a.3.5.
5.1a.5.6
Mapping on a burst

The mapping is the same as for UAS-7 as specified in subclause 5.1a.3.6.
5.1a.6
Packet data block type 17 (UAS-10)
5.1a.6.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51
i1(k-52) = d(k)

for k = 52,...,501
i2(k-502) = d(k)

for k = 502,...,951
i3(k-952) = d(k)

for k = 952,...,1401

And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426
5.1a.6.2
Header coding

The header {h(0),...,h(51)} is coded as defined in subclause 5.1a.1.1, with N=52, resulting in a block of 180 bits, {C(0),...,C(179)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 168 bits, {hc(0),...,hc(167)}.
5.1a.6.3
Data coding

Each data part, {i1(0),…,i1(449)}, {i2(0),…,i2(449)} and {i3(0),…,i3(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in three coded blocks of 1404 bits, {C1(0),...,C1(1403)}, {C2(0),...,C2(1403)} and {C3(0),...,C3(1403)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(18*k+j) for k=0,…,77, j=2, 4, 5, 7, 8, 9, 11, 12, 13, 15 and 16,
except C(18*k+7) for k=2, 8, 13, 19, 24, 30, 35, 41, 46, 52, 57, 63, 68 and 74 that are not punctured.
	C(18*k+7) for k=2, 8, 13, 19, 24, 30, 35, 41, 46, 52, 57, 63, 68 and 74; and

C(18*k) for k=0, 6, 13, 19, 26, 32, 39, 45, 52, 58, 65 and 71

	P2
	C(18*k+j) for k=0,…,77, j=0, 1, 3, 4, 6, 8, 10, 11, 13, 14 and 17,
except C(18*k+3) for k=4, 10, 15, 21, 26, 32, 37, 43, 48, 54, 59, 65, 70 and 76 that are not punctured.
	C(18*k+3) for k=4, 10, 15, 21, 26, 32, 37, 43, 48, 54, 59, 65, 70 and 76; and
C(18*k+15) for k=2, 8, 15, 21, 28, 34, 41, 47, 54, 60, 67 and 73

	P3
	C(18*k+j) for k=0,…,77, j=1, 2, 3, 5, 6, 7, 9, 10, 14, 16 and 17,
except C(18*k+1) for k=0, 6, 11, 17, 22, 28, 33, 39, 44, 50, 55, 61, 66 and 72 that are not punctured.
	C(18*k+1) for k=0, 6, 11, 17, 22, 28, 33, 39, 44, 50, 55, 61, 66 and 72; and
C(18*k+12) for k=4, 10, 17, 23, 30, 36, 43, 49, 56, 62, 69 and 75


If a PAN is not included, the result is three blocks of 560 bits, {c1(0),...,c1(559)}, {c2(0),...,c2(559)} and {c3(0),...,c3(559)}, where c1 corresponds to i1, c2 to i2 and c3 to i3.

If a PAN is included, the result is three blocks of 534 bits, {c1(0),...,c1(533)}, {c2(0),...,c2(533)} and {c3(0),...,c3(533)}, where c1 corresponds to i1, c2 to i2 and c3 to i3.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, and C3 and c3 to i3.

5.1a.6.4
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.6.5
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=31, resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,559
dc(k) = c2(k-560)
for k = 560,...,1119
dc(k) = c3(k-1120)
for k = 1120,...,1679

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,533
dc(k) = c2(k-534)
for k = 534,...,1067
dc(k) = c3(k-1068)
for k = 1068,...,1601
dc(k) = pc(k-1602)
for k = 1602,...,1679
The block {dc(0),...,dc(1679)} is interleaved as defined in subclause 5.1a.2.1, with NC=1680 and a=173, resulting in a block of 1680 bits, {di(0),...,di(1679)}.
5.1a.6.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(420B+j)

for j = 0,...,209
e(B,j) = hi(42B+j-210)
for j = 210,...,231
e(B,j) = q(2B+j-232)

for j = 232,233
e(B,j) = hi(42B+j-212)
for j = 234,...,253
e(B,j) = di(420B+j-44)
for j = 254,...,463

where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme UAS-10 or UAS-11.
b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,192+k) with e(B,214+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 42, 43, 46, 47, 50, 51, 54, 55, 58, 59, 62 and 63.
5.1a.7
Packet data block type 18 (UAS-11)

5.1a.7.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1594 information bits {d(0),d(1),...,d(1593)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1619 information bits {d(0),d(1),...,d(1618).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51

i1(k-52) = d(k)

for k = 52,...,565
i2(k-566) = d(k)

for k = 566,...,1079
i3(k-1080) = d(k)

for k = 1080,...,1593
And if a PAN is included:

pn(k-1594) = d(k)
for k = 1594,...,1618
5.1a.7.2
Header coding

The header coding is the same as for for UAS-10 as specified in subclause 5.1a.6.2.
5.1a.7.3
Data coding

Each data part, {i1(0),…,i1(513)}, {i2(0),…,i2(513)} and {i3(0),…,i3(513)}, is coded as defined in subclause 5.1a.1.2, with N=514, resulting in three coded blocks of 1596 bits, {C1(0),...,C1(1595)}, {C2(0),...,C2(1595)} and {C3(0),...,C3(1595)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(57*k+j) for k=0,…,27, j=0, 2, 3, 5, 6, 8, 9, 11, 12, 14, 15, 17, 19, 20, 22, 23, 25, 26, 28, 29, 31, 32, 34, 35, 37, 39, 40, 42, 43, 45, 46, 48, 49, 51, 52, 54 and 55
	C(57*k+38) for k=0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25 and 26

	P2
	C(57*k+j) for k=0,…,27, j=1, 3, 4, 6, 7, 9, 10, 12, 13, 15, 16, 18, 20, 21, 23, 24, 26, 27, 29, 30, 32, 33, 35, 36, 38, 40, 41, 43, 44, 46, 47, 49, 50, 52, 53, 55 and 56
	C(57*k+2) for k=0, 1, 2, 3, 4, 5, 6, 7, 8, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 24, 25, 26 and 27

	P3
	C(57*k+j) for k=0,…,27, j=0, 2, 4, 5, 7, 8, 10, 11, 13, 14, 16, 17, 19, 21, 22, 24, 25, 27, 28, 30, 31, 33, 34, 36, 37, 39, 41, 42, 44, 45, 47, 48, 50, 51, 53, 54 and 56
	C(57*k+18) for k=0, 1, 2, 3, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 19, 20, 21, 22, 23, 24, 25, 26 and 27


If a PAN is not included, the result is three blocks of 560 bits, {c1(0),...,c1(559)}, {c2(0),...,c2(559)} and {c3(0),...,c3(559)}.

If a PAN is included, the result is three blocks of 534 bits, {c1(0),...,c1(533)}, {c2(0),...,c2(533)} and {c3(0),...,c3(533)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, and C3 and c3 to i3.

5.1a.7.4
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.

5.1a.7.5
Interleaving

a)
Header

The interleaving is the same as for UAS-10 as specified in subclause 5.1a.6.5.
b)
Data and PAN
If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,559
dc2(k) = c2(k)


for k = 0,...,559
dc3(k) = c3(k)


for k = 0,...,559
If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,533
dc1(k) = pc(3k-1602)
for k = 534,...,559

dc2(k) = c2(k)


for k = 0,...,533
dc2(k) = pc(3k-1601)
for k = 534,...,559

dc3(k) = c3(k)


for k = 0,...,533
dc3(k) = pc(3k-1600)
for k = 534,...,559
The three blocks {dc1(0),...,dc1(558)}, {dc2(0),...,dc2(558)} and {dc3(0),...,dc3(558)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=560 and a=[ffs], resulting in the three blocks {di1(0),…,di1(558)}, {di2(0),…,di2(558)} and {di3(0),…,di3(558)}, where di1 corresponds to dc1, di2 to dc2 and di3 to dc3.
The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,559
di(k) = di2(k-560)

for k = 560,...,1119
di(k) = di3(k-1120)

for k = 1120,...,1679
5.1a.7.6
Mapping on a burst

The mapping is the same as for UAS-10 as specified in subclause 5.1a.6.6.
5.1a.8
Packet data block type 19 (UBS-5)
5.1a.8.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 479 information bits {d(0),d(1),...,d(478)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 504 information bits {d(0),d(1),...,d(503).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,28
i(k-29) = d(k)


for k = 29,...,478
And if a PAN is included:

pn(k-479) = d(k)

for k = 479,...,503
5.1a.8.2
Header coding

The header {h(0),...,h(28)} is coded as defined in subclause 5.1a.1.1, with N=29, resulting in a block of 111 bits, {C(0),...,C(110)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 108 bits, {hc(0),...,hc(107)}.
5.1a.8.3
Data coding

The data, {i(0),…,i(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in a coded block of 1404 bits, {C(0),...,C(1403)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(27*k+j) for k=0,…,51, j=5, 8, 11, 14, 17, 20, 23 and 26
	C(27*k) for k=0,...,51; and
C(27*k+10) for k=0, 1, 3, 5, 7, 9, 11, 13, 14, 16, 18, 20, 22, 24, 26, 27, 29, 31, 33, 35, 37, 39, 40, 42, 44, 46, 48 and 50

	P2
	C(27*k+j) for k=0,…,51, j=2, 4, 6, 12, 13, 18, 22 and 24
	C(27*k+16) for k=0,...,51; and

C(27*k+9) for k=0, 2, 4, 6, 8, 10, 12, 13, 15, 17, 19, 21, 23, 25, 26, 28, 30, 32, 34, 36, 38, 39, 41, 43, 45, 47, 49 and 51


If a PAN is not included, the result is a block of 988 bits, {c(0),...,c(987)}.

If a PAN is included, the result is a block of 908 bits, {c(0),...,c(907)}.

5.1a.8.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.
The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 80 bits, {pc(0),...,pc(79)}.
5.1a.8.5
Interleaving

a)
Header

The header, {hc(0),...,hc(107)}, is interleaved as defined in subclause 5.1a.2.1, with NC=108 and a=[ffs], resulting in a block of 108 bits, {hi(0),...,hi(107)}.
b)
Data and PAN
If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,987
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c(k)


for k = 0,...,907
dc(k) = pc(k-908)
for k = 908,...,987
The block {dc(0),...,dc(987)} is interleaved as defined in subclause 5.1a.2.1, with NC=988 and a=108, resulting in a block of 988 bits, {di(0),...,di(987)}.
5.1a.8.6
Mapping on a burst

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(247B+j)

for j = 0,...,123
e(B,j) = hi(27B+j-124)
for j = 124,...,136
e(B,j) = q(2B+j-137)

for j = 137,138
e(B,j) = hi(27B+j-126)
for j = 139,...,152
e(B,j) = di(247B+j-29)
for j = 153,...,275
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UBS-5 or UBS-6.

5.1a.9
Packet data block type 20 (UBS-6)

5.1a.9.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 623 information bits {d(0),d(1),...,d(622)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 648 information bits {d(0),d(1),...,d(647).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,28
i(k-29) = d(k)


for k = 29,...,622
And if a PAN is included:

pn(k-623) = d(k)

for k = 622,...,647
5.1a.9.2
Header coding

The header coding is the same as for for UBS-5 as specified in subclause 5.1a.8.2.
5.1a.9.3
Data coding

The data, {i(0),…,i(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in a coded block of 1836 bits, {C(0),...,C(1403)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(15*k+j) for k=0,…,121, j=2, 4, 8, 9, 11, 12 and 13; and
C(15*122+j) for j=2 and 4,
except C(15*k+9) for k=9, 24, 39, 54, 69, 84, 99 and 114 that are not punctured
	C(15*k+9) for k=9, 24, 39, 54, 69, 84, 99 and 114; and
C(15*k+5) for k=0, 1, 3, 5, 6, 8, 10, 11, 13, 15, 17, 18, 20, 22, 23, 25, 27, 28, 30, 32, 34, 35, 37, 39, 40, 42, 44, 45, 47, 49, 51, 52, 54, 56, 57, 59, 61, 62, 64, 66, 68, 69, 71, 73, 74, 76, 78, 79, 81, 83, 85, 86, 88, 90, 91, 93, 95, 96, 98, 100, 102, 103, 105, 107, 108, 110, 112, 113, 115, 117, 119 and 120

	P2
	C(15*k+j) for k=0,…,121, j=0, 1, 3, 6, 7, 10 and 14; and

C(15*122+j) for j=0, 1 and 3,
except C(15*k+1) for k=2, 17, 32, 47, 62, 77, 92, 107 and 122 that are not punctured
	C(15*k+1) for k=2, 17, 32, 47, 62, 77, 92, 107 and 122; and
C(15*k+13) for k=0, 2, 4, 5, 7, 9, 11, 12, 14, 16, 17, 19, 21, 22, 24, 26, 28, 29, 31, 33, 34, 36, 38, 39, 41, 43, 45, 46, 48, 50, 51, 53, 55, 56, 58, 60, 62, 63, 65, 67, 68, 70, 72, 73, 75, 77, 79, 80, 82, 84, 85, 87, 89, 90, 92, 94, 96, 97, 99, 101, 102, 104, 106, 107, 109, 111, 113, 114, 116, 118 and 119


If a PAN is not included, the result is a block of 988 bits, {c(0),...,c(987)}.

If a PAN is included, the result is a block of 908 bits, {c(0),...,c(907)}.

5.1a.9.4
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.

5.1a.9.5
Interleaving

The interleaving is the same as for UBS-5 as specified in subclause 5.1a.8.5.
5.1a.9.6
Mapping on a burst

The mapping is the same as for UBS-5 as specified in subclause 5.1a.8.6.
5.1a.10
Packet data block type 21 (UBS-7)
5.1a.10.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 940 information bits {d(0),d(1),...,d(939)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 965 information bits {d(0),d(1),...,d(964).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,39
i1(k-40) = d(k)

for k = 40,...,489
i2(k-490) = d(k)

for k = 490,...,939
And if a PAN is included:

pn(k-940) = d(k)

for k = 940,...,959+lt
5.1a.10.2
Header coding

The header {h(0),...,h(39)} is coded as defined in subclause 5.1a.1.1, with N=40, resulting in a block of 144 bits, {C(0),...,C(143)}.

No puncturing is applied. The coded header is defined as:

pc(k) = C(k)


for k = 0,...,143.
5.1a.10.3
Data coding

Each data part, {i1(0),…,i1(449)} and {i2(0),…,i2(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in two coded blocks of 1404 bits, {C1(0),...,C1(1403)} and {C2(0),...,C2(1403)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(33*k+j) for k=0,…,41, j=4, 8, 10, 14, 20, 23, 25, 29 and 30; and

C(33*42+j) for j=4, 8, 10 and 14,
except C(33*k+20) for k=6, 12, 18, 24, 30 and 36 that are not punctured
	C(33*k+20) for k=6, 12, 18, 24, 30 and 36; and
C(33*k+18) for k=0, 1, 2, 3, 5, 6, 7, 8, 10, 11, 12, 13, 15, 16, 17, 18, 20, 21, 22, 23, 25, 26, 27, 28, 30, 31, 32, 33, 35, 36, 37, 38, 40 and 41

	P2
	C(33*k+j) for k=0,…,41, j=2, 5, 7, 12, 17, 19, 24, 26 and 28; and

C(33*42+j) for j=2, 5, 7, 12 and 17,
except C(33*k+26) for k=3,  9,  15,  21,  27,  33 and 39 that are not punctured
	C(33*k+26) for k=3,  9,  15,  21,  27,  33 and 39; and
C(33*k+13) for k=0, 1, 3, 4, 5, 6, 8, 9, 10, 11, 13, 14, 15, 16, 18, 19, 20, 21, 23, 24, 25, 26, 28, 29, 30, 31, 33, 34, 35, 36, 38, 39 and 40


If a PAN is not included, the result is two blocks of 1028 bits, {c1(0),...,c1(1027)} and {c2(0),...,c2(1027)}.

 If a PAN is included, the result is two blocks of 988 bits, {c1(0),...,c1(987)} and {c2(0),...,c2(987)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.

5.1a.10.4
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.10.5
Interleaving

a)
Header

The header, {hc(0),...,hc(143)}, is interleaved as defined in subclause 5.1a.2.1, with NC=144 and a=[ffs], resulting in a block of 144 bits, {hi(0),...,hi(143)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,1027
dc(k) = c2(k-1028)
for k = 1028,...,2055
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,987
dc(k) = c2(k-988)
for k = 988,...,1975
dc(k) = pc(k-1976)
for k = 1976,...,2055
The block {dc(0),...,dc(2055)} is interleaved as defined in subclause 5.1a.2.1, with NC=2056 and a=403, resulting in a block of 2056 bits, {di(0),...,di(2055)}.
5.1a.10.6
Mapping on a burst

a)
Straightforward Mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(514B+j)

for j = 0,...,256
e(B,j) = hi(36B+j-257)
for j = 257,...,275
e(B,j) = q(2B+j-276)

for j = 276,277
e(B,j) = hi(36B+j-259)
for j = 278,...,294
e(B,j) = di(514B+j-38)
for j = 295,...,551
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UBS-7 or UBS-8.
b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

[ffs]
5.1a.11
Packet data block type 22 (UBS-8)

5.1a.11.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1228 information bits {d(0),d(1),...,d(1227)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1253 information bits {d(0),d(1),...,d(1252).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,39
i1(k-40) = d(k)

for k = 40,...,633
i2(k-634) = d(k)

for k = 634,...,1227
And if a PAN is included:

pn(k-1228) = d(k)
for k = 1228,...,1252
5.1a.11.2
Header coding

The header coding is the same as for for UBS-7 as specified in subclause 5.1a.10.2.
5.1a.11.3
Data coding

Each data part, {i1(0),…,i1(593)} and {i2(0),…,i2(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in two coded blocks of 1836 bits, {C1(0),...,C1(1835)} and {C2(0),...,C2(1835)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(18*k+j) for k=0,…,101, j=2, 4, 8, 9, 10, 14, 16 and 17,
except C(18*k+17) for k=4, 17, 30, 43, 56, 69, 82 and 95 that are not punctured
	C(18*k+17) for k=4, 17, 30, 43, 56, 69, 82 and 95; and
C(18*k+3) for k=0, 3, 6, 9, 12, 15, 19, 22, 25, 28, 31, 35, 38, 41, 44, 47, 51, 54, 57, 60, 63, 66, 70, 73, 76, 79, 82, 86, 89, 92, 95 and 98

	P2
	C(18*k+j) for k=0,…,101, j=0, 1, 5, 6, 7, 11, 12 and 13,
except C(18*k+7) for k=8, 21, 34, 47, 60, 73, 86 and 99 that are not punctured
	C(18*k+7) for k=8, 21, 34, 47, 60, 73, 86 and 99; and
C(18*k+15) for k=1, 4, 7, 11, 14, 17, 20, 23, 27, 30, 33, 36, 39, 43, 46, 49, 52, 55, 58, 62, 65, 68, 71, 74, 78, 81, 84, 87, 90, 94, 97 and 100


If a PAN is not included, the result is two blocks of 1028 bits, {c1(0),...,c1(1027)} and {c2(0),...,c2(1027)}.

 If a PAN is included, the result is two blocks of 988 bits, {c1(0),...,c1(987)} and {c2(0),...,c2(987)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.

5.1a.11.4
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.

5.1a.11.5
Interleaving

The interleaving is the same as for for UBS-7 as specified in subclause 5.1a.10.5.
5.1a.11.6
Mapping on a burst

The mapping is the same as for for UBS-7 as specified in subclause 5.1a.10.6.
5.1a.12
Packet data block type 23 (UBS-9)
5.1a.12.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1402 information bits {d(0),d(1),...,d(1401)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1427 information bits {d(0),d(1),...,d(1426).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51
i1(k-52) = d(k)

for k = 52,...,501
i2(k-502) = d(k)

for k = 502,...,951
i3(k-952) = d(k)

for k = 952,...,1401
And if a PAN is included:

pn(k-1402) = d(k)
for k = 1402,...,1426
5.1a.12.2
Header coding

The header {h(0),...,h(51)} is coded as defined in subclause 5.1a.1.1, with N=52, resulting in a block of 180 bits, {C(0),...,C(179)}.

The code is repeated in such a way that the following coded bits:

{C(k) for k = [ffs]} are repeated
This results in a block of 184 bits, {hc(0),...,hc(183)}.
5.1a.12.3
Data coding

Each data part, {i1(0),…,i1(449)}, {i2(0),…,i2(449)} and {i3(0),…,i3(449)}, is coded as defined in subclause 5.1a.1.2, with N=450, resulting in three coded blocks of 1404 bits, {C1(0),...,C1(1403)}, {C2(0),...,C2(1403)} and {C3(0),...,C3(1403)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(21*k+j) for k=0,…,65, j=2, 4, 5, 7, 8, 10, 13, 14, 16, 18 and 20; and

C(21*66+j) for j=2, 4, 5, 7, 8, 10, 13, 14 and 16,
except C(21*k+7) for k=16, 33 and 50 that are not punctured
	C(21*k+7) for k=16, 33 and 50; and
C(21*k+9) for k=0, 2, 5, 8, 10, 13, 16, 18, 21, 24, 26, 29, 32, 34, 37, 40, 42, 45, 48, 50, 53, 56, 58, 61 and 64

	P2
	C(21*k+j) for k=0,…,65, j=0, 1, 3, 6, 9, 11, 12, 14, 15, 17 and 19; and

C(21*66+j) for j=0, 1, 3, 6, 9, 11, 12, 14, 15 and 17,
except C(21*k+17) for k=4, 21, 38 and 55 that are not punctured
	C(21*k+17) for k=4, 21, 38 and 55; and
C(21*k+20) for k=0, 3, 6, 8, 11, 14, 16, 19, 22, 24, 27, 30, 32, 35, 38, 41, 43, 46, 49, 51, 54, 57, 59 and 62

	P3
	C(21*k+j) for k=0,…,65, j=0, 2, 5, 7, 8, 10, 11, 13, 16, 17 and 19; and

C(21*66+j) for j=0, 2, 5, 7, 8, 10, 11, 13, 16 and 17,
except C(21*k+10) for k=10, 27, 44 and 61 that are not punctured
	C(21*k+10) for k=10, 27, 44 and 61; and
C(21*k+12) for k=1, 4, 7, 9, 12, 15, 17, 20, 23, 25, 28, 31, 33, 36, 39, 41, 44, 47, 49, 52, 55, 57, 60 and 63


If a PAN is not included, the result is three blocks of 672 bits, {c1(0),...,c1(671)}, {c2(0),...,c2(671)} and {c3(0),...,c3(671)}.

If a PAN is included, the result is three blocks of 644 bits, {c1(0),...,c1(643)}, {c2(0),...,c2(643)} and {c3(0),...,c3(643)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, and C3 and c3 to i3.

5.1a.12.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.
The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 84 bits, {pc(0),...,pc(83)}.
5.1a.12.5
Interleaving

a)
Header

The header, {hc(0),...,hc(183)}, is interleaved as defined in subclause 5.1a.2.1, with NC=184 and a=[ffs], resulting in a block of 184 bits, {hi(0),...,hi(183)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,671
dc(k) = c2(k-672)
for k = 672,...,1343
dc(k) = c3(k-1344)
for k = 1344,...,2015
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,643
dc(k) = c2(k-644)
for k = 644,...,1287
dc(k) = c3(k-1288)
for k = 1288,...,1931
dc(k) = pc(k-1932)
for k = 1932,...,2015
The block {dc(0),...,dc(2015)} is interleaved as defined in subclause 5.1a.2.1, with NC=2016 and a=229, resulting in a block of 2016 bits, {di(0),...,di(2015)}.
5.1a.12.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(504B+j)

for j = 0,...,251
e(B,j) = hi(46B+j-252)
for j = 252,...,275
e(B,j) = q(2B+j-276)

for j = 276,277
e(B,j) = hi(46B+j-254)
for j = 278,...,299
e(B,j) = di(504B+j-48)
for j = 300,...,551

where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme UBS-9.
b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

[ffs]
5.1a.13
Packet data block type 24 (UBS-10)
5.1a.13.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1834 information bits {d(0),d(1),...,d(1833)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1859 information bits {d(0),d(1),...,d(1858).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,51
i1(k-52) = d(k)

for k = 52,...,645
i2(k-646) = d(k)

for k = 646,...,1239
i3(k-1240) = d(k)

for k = 1240,...,1833
And if a PAN is included:

pn(k-1834) = d(k)
for k = 1834,...,1858
5.1a.13.2
Header coding

The header {h(0),...,h(51)} is coded as defined in subclause 5.1a.1.1, with N=52, resulting in a block of 184 bits, {C(0),...,C(183)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted.
This results in a block of 168 bits, {hc(0),...,hc(167)}.
5.1a.13.3
Data coding

Each data part, {i1(0),…,i1(593)}, {i2(0),…,i2(593)} and {i3(0),…,i3(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in three coded blocks of 1836 bits, {C1(0),...,C1(1835)}, {C2(0),...,C2(1835)} and {C3(0),...,C3(1835)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(15*k+j) for k=0,…,121, j=2, 4, 5, 6, 8, 11, 12 and 13; and

C(15*122+j) for j=2, 4 and 5,

except C(15*k+8) for k=10, 51 and 92 that are not punctured
	C(15*k+8) for k=10, 51 and 92; and
C(15*k+1) for k=0, 4, 9, 14, 19, 24, 29, 34, 39, 44, 48, 53, 58, 63, 68, 73, 78, 83, 88, 93, 97, 102, 107, 112 and 117

	P2
	C(15*k+j) for k=0,…,121, j=0, 1, 3, 7, 8, 9, 10, 14; and

C(15*122+j) for j=0, 1 and 3,

except C(15*k) for k=20, 61 and 102 that are not punctured
	C(15*k) for k=20, 61 and 102; and
C(15*k+12) for k=1, 6, 11, 16, 21, 26, 31, 35, 40, 45, 50, 55, 60, 65, 70, 75, 79, 84, 89, 94, 99, 104, 109, 114 and 119

	P3
	C(15*k+j) for k=0,…,121, j=0, 2, 5, 6, 7, 11, 13 and 14; and

C(15*122+j) for j=0, 2 and 5,

except C(15*k+2) for k=30, 71 and 112 that are not punctured
	C(15*k+2) for k=30, 71 and 112; and
C(15*k+9) for k=3, 8, 13, 17, 22, 27, 32, 37, 42, 47, 52, 57, 62, 66, 71, 76, 81, 86, 91, 96, 101, 106, 110, 115 and 120


If a PAN is not included, the result is three blocks of 860 bits, {c1(0),...,c1(859)}, {c2(0),...,c2(859)} and {c3(0),...,c3(859)}.

If a PAN is included, the result is three blocks of 832 bits, {c1(0),...,c1(831)}, {c2(0),...,c2(831)} and {c3(0),...,c3(831)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, and C3 and c3 to i3.

5.1a.13.4
PAN coding

The PAN coding is the same as for for UBS-9 as specified in subclause 5.1a.12.4.

5.1a.13.5
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=[ffs], resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,859
dc(k) = c2(k-860)
for k = 860,...,1719
dc(k) = c3(k-1720)
for k = 1720,...,2579
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,831
dc(k) = c2(k-832)
for k = 832,...,1663
dc(k) = c3(k-1664)
for k = 1664,...,2495
dc(k) = pc(k-2496)
for k = 2496,...,2579
The block {dc(0),...,dc(2579)} is interleaved as defined in subclause 5.1a.2.1, with NC=2580 and a=[ffs], resulting in a block of 2580 bits, {di(0),...,di(2579)}.
5.1a.13.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(645B+j)

for j = 0,...,322
e(B,j) = hi(42B+j-323)
for j = 323,...,343
e(B,j) = q(3B+j-344)

for j = 344,...,346
e(B,j) = hi(42B+j-326)
for j = 347,...,367
e(B,j) = di(645B+j-45)
for j = 368,...,689

where

q(0),q(1),...,q(11) = 0,0,0,0,0,0,0,0,0,0,0,0 identifies the coding scheme UBS-10.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

[ffs]
5.1a.14
Packet data block type 25 (UBS-11)

5.1a.14.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2248 information bits {d(0),d(1),...,d(2247)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2273 information bits {d(0),d(1),...,d(2272).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,63
i1(k-64) = d(k)

for k = 64,...,609
i2(k-610) = d(k)

for k = 610,...,1155
i3(k-1156) = d(k)

for k = 1156,...,1701
i4(k-1702) = d(k)

for k = 1702,...,2247

And if a PAN is included:

pn(k-2248) = d(k)
for k = 2248,...,2272
5.1a.14.2
Header coding

The header {h(0),...,h(63)} is coded as defined in subclause 5.1a.1.1, with N=64, resulting in a block of 216 bits, {C(0),...,C(215)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 208 bits, {hc(0),...,hc(207)}.
5.1a.14.3
Data coding

Each data part, {i1(0),…,i1(545)}, {i2(0),…,i2(545)}, {i3(0),…,i3(545)} and {i4(0),…,i4(545)}, is coded as defined in subclause 5.1a.1.2, with N=546, resulting in four coded blocks of 1692 bits, {C1(0),...,C1(1691)}, {C2(0),...,C2(1691)} and {C3(0),...,C3(1691)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	C(24*k+j) for k=0,…,69, j=2, 4, 5, 6, 8, 10, 11, 13, 14, 15, 16, 18, 19, 21 and 22; and

C(24*70+j) for j=2, 4, 5, 6, 8, 10 and 11
	C(24*k) for k=0, 3, 7, 10, 14, 17, 21, 24, 28, 31, 35, 38, 42, 45, 49, 52, 56, 59, 63 and 66

	P2
	C(24*k+j) for k=0,…,69, j=0, 1, 3, 4, 6, 7, 9, 11, 12, 13, 15, 17, 18, 20 and 23; and

C(24*70+j) for j=0, 1, 3, 4, 6, 7, 9 and 11,

except C(24*35+3) that is not punctured
	C(24*35+3); and
C(24*k+22) for k=2, 5, 9, 12, 16, 19, 23, 27, 30, 34, 37, 41, 44, 48, 51, 55, 58, 62 and 65

	P3
	C(24*k+j) for k=0,…,69, j=1, 2, 3, 5, 7, 8, 10, 12, 14, 16, 17, 19, 20, 21 and 22; and

C(24*70+j) for j=1, 2, 3, 5, 7, 8 and 10
	C(24*k+9) for k=1, 4, 8, 11, 15, 18, 22, 25, 29, 32, 36, 39, 43, 47, 50, 54, 57, 61, 64 and 68


If a PAN is not included, the result is four blocks of 635 bits, {c1(0),...,c1(634)}, {c2(0),...,c2(634)}, {c3(0),...,c3(634)} and {c4(0),...,c4(634)}.

If a PAN is included, the result is four blocks of 615 bits, {c1(0),...,c1(614)}, {c2(0),...,c2(614)}, {c3(0),...,c3(614)} and {c4(0),...,c4(614)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, C3 and c3 to i3, and C4 and c4 to i4.

5.1a.14.4
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.14.5
Interleaving

a)
Header

The header, {hc(0),...,hc(207)}, is interleaved as defined in subclause 5.1a.2.1, with NC=208 and a=[ffs], resulting in a block of 208 bits, {hi(0),...,hi(207)}.
b)
Data and PAN
If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,634
dc2(k) = c2(k)


for k = 0,...,634
dc3(k) = c3(k)


for k = 0,...,634
dc4(k) = c4(k)


for k = 0,...,634
If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,614
dc1(k) = pc(4k-2460)
for k = 615,...,634

dc2(k) = c2(k)


for k = 0,...,614

dc2(k) = pc(4k-2459)
for k = 615,...,634

dc3(k) = c3(k)


for k = 0,...,614

dc3(k) = pc(4k-2458)
for k = 615...,634

dc4(k) = c4(k)


for k = 0,...,614

dc4(k) = pc(4k-2457)
for k = 615...,634

The four blocks {dc1(0),...,dc1(634)}, {dc2(0),...,dc2(634)}, {dc3(0),...,dc3(634)} and {dc4(0),...,dc4(634)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=635 and a=[ffs], resulting in the four blocks {di1(0),…,di1(634)}, {di2(0),…,di2(634)}, {di3(0),…,di3(634)} and {di4(0),…,di4(634)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.
The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,634
di(k) = di2(k-635)

for k = 635,...,1269
di(k) = di3(k-1270)

for k = 1270,...,1904
di(k) = di4(k-1905)

for k = 1905,...,2539
5.1a.14.6
Mapping on a burst

Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(635B+j)

for j = 0,...,317
e(B,j) = hi(52B+j-318)
for j = 318,...,343
e(B,j) = q(3B+j-344)

for j = 344,...,346
e(B,j) = hi(52B+j-321)
for j = 347,...,372
e(B,j) = di(635B+j-55)
for j = 373,...,689

where

q(0),q(1),...,q(11) = 1,1,1,1,1,1,1,1,1,1,1,1 identifies the coding scheme UBS-11 or UBS-12.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

[ffs]
5.1a.15
Packet data block type 26 (UBS-12)
5.1a.15.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2440 information bits {d(0),d(1),...,d(2439)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2465 information bits {d(0),d(1),...,d(2464).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

h(k) = d(k)


for k = 0,...,63

i1(k-64) = d(k)

for k = 64,...,657
i2(k-658) = d(k)

for k = 658,...,1251
i3(k-1252) = d(k)

for k = 1252...,1845
i4(k-1846) = d(k)

for k = 1846,...,2439
And if a PAN is included:

pn(k-2440) = d(k)
for k = 2440,...,2464
5.1a.15.2
Header coding

The header coding is the same as for for UBS-11 as specified in subclause 5.1a.14.2.
5.1a.15.3
Data coding

Each data part, {i1(0),…,i1(593)}, {i2(0),…,i2(593)}, {i3(0),…,i3(593)} and {i4(0),…,i4(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in four coded blocks of 1836 bits, {C1(0),...,C1(1835)}, {C2(0),...,C2(1835)}, {C3(0),...,C3(1835)} and {C4(0),...,C4(1835)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[ffs]
	[ffs]

	P2
	[ffs]
	[ffs]

	P3
	[ffs]
	[ffs]


If a PAN is not included, the result is four blocks of 635 bits, {c1(0),...,c1(634)}, {c2(0),...,c2(634)}, {c3(0),...,c3(634)} and {c4(0),...,c4(634)}.

If a PAN is included, the result is four blocks of 615 bits, {c1(0),...,c1(614)}, {c2(0),...,c2(614)}, {c3(0),...,c3(614)} and {c4(0),...,c4(614)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, C3 and c3 to i3, and C4 and c4 to i4.

5.1a.15.4
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.15.5
Interleaving

The interleaving is the same as for UBS-11 as specified in subclause 5.1a.14.5.
5.1a.15.6
Mapping on a burst

The mapping is the same as for for UBS-11 as specified in subclause 5.1a.14.6.
5.1a.16
Packet data block type 27 (DAS-5)
5.1a.16.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 478 information bits {d(0),d(1),...,d(477)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 503 information bits {d(0),d(1),...,d(502).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

5.1a.16.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived from {d(0),d(1),d(2)} as described for MCS-5 DL in subclause 5.1.9.1.2.

5.1a.16.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3.

5.1a.16.4
Data coding

The data, defined as

i(k) = d(k+28)



for k = 0,...,449
 is coded as defined in subclause 5.1a.1.3, with N=450, resulting in a coded block of 1398 bits, {C(0),...,C1(1397)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(30*k+j) for k=0,…,45, j=1, 13, 19 and 25; and

C(30*46+j) for j=1 and 13,

except C(30*k+19) for k=0, 5, 10, 15, 20, 25, 30, 35, 40 and 45 that are not punctured]
	[ffs]

	P2
	[C(30*k+j) for k=0,…,45, j=2, 14, 20 and 26; and

C(30*46+j) for j=2 and 14,

except C(30*k+20) for k=0, 5, 10, 15, 20, 25, 30, 35, 40 and 45 that are not punctured]
	[ffs]


If a PAN is not included, the result is a block of 1248 bits, {c(0),...,c(1247)}.

If a PAN is included, the result is a block of 1170 bits, {c(0),...,c(1169)}.

5.1a.16.5
PAN coding

The PAN, if included, is defined as

pn(i) = d(478+i)    for i=0,…,24.
The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.16.6
Interleaving

a)
Header


The header interleaving is the same as for MCS-5 DL as specified in subclause 5.1.9.1.5, resulting in a block of 100 bits, {hi(0),...,hi(99)}.
b)
Data and PAN
If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,1247
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c(k)


for k = 0,...,1169
dc(k) = pc(k-1170)
for k = 1170,...,1247
The block {dc(0),...,dc(1247)} is interleaved as for MCS-5 DL as specified in subclause 5.1.9.1.5, resulting in a block of 1248 bits, {di(0),...,di(1247)}.
5.1a.16.7
Mapping on a burst

The mapping is the same as for for MCS-5 DL as specified in subclause 5.1.9.1.6.
NOTE:
In this case, the stealing flags q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identify the coding scheme DAS-5, DAS-6 or DAS-7.
5.1a.17
Packet data block type 28 (DAS-6)
5.1a.17.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 574 information bits {d(0),d(1),...,d(573)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 599 information bits {d(0),d(1),...,d(598).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

5.1a.17.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived from {d(0),d(1),d(2)} as described for MCS-5 DL in subclause 5.1.9.1.2.

5.1a.17.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3.

5.1a.17.4
Data coding

The data, defined as

i(k) = d(k+28)



for k = 0,...,545
 is coded as defined in subclause 5.1a.1.3, with N=546, resulting in a coded block of 1686 bits, {C(0),...,C(1685)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(33*k+j) for k=0,…,50, j=1, 5, 10, 14, 16, 19, 23, 28 and 32; and

C(30*46+j) for j=1,

except C(33*k+16) for k=0, 1, 3, 6, 9, 11, 12, 15, 18, 21, 22, 24, 27, 30, 32, 33, 36, 39, 42, 43, 45 and 48, that are not punctured]
	[ffs]

	P2
	[C(33*k+j) for k=0,…,50, j=2, 4, 11, 13, 17, 20, 22, 29 and 31; and

C(30*46+j) for j=2,

except C(33*k+17) for k=0, 1, 3, 6, 9, 11, 12, 15, 18, 21, 22, 24, 27, 30, 32, 33, 36, 39, 42, 43, 45 and 48, that are not punctured]
	[ffs]


If a PAN is not included, the result is a block of 1248 bits, {c(0),...,c(1247)}.

If a PAN is included, the result is a block of 1170 bits, {c(0),...,c(1169)}.

5.1a.17.5
PAN coding

The PAN, if included, is defined as

pn(i) = d(574+i)    for i=0,…,24.

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.

5.1a.17.6
Interleaving

The interleaving is the same as for DAS-5 as specified in subclause 5.1a.16.6.
5.1a.17.7
Mapping on a burst

The mapping is the same as for for MCS-5 DL as specified in subclause 5.1.9.1.6.

NOTE:
In this case, the stealing flags q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identify the coding scheme DAS-5, DAS-6 or DAS-7.
5.1a.18
Packet data block type 29 (DAS-7)

5.1a.18.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 686 information bits {d(0),d(1),...,d(685)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 711 information bits {d(0),d(1),...,d(710).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

5.1a.18.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived from {d(0),d(1),d(2)} as described for MCS-5 DL in subclause 5.1.9.1.2.

5.1a.18.3
Header coding

A block of 100 coded bits {hc(0),hc(1),...,hc(99)} is derived from {d(3),d(4),…,d(27)} as described for MCS-5 DL in subclause 5.1.9.1.3.

5.1a.18.4
Data coding

The data, defined as

i(k) = d(k+28)



for k = 0,...,657
 is coded as defined in subclause 5.1a.1.3, with N=658, resulting in a coded block of 2022 bits, {C(0),...,C(2021)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(39*k+j) for k=0,…,50 , j=1, 4, 5, 7, 11, 13, 17, 19, 23, 25, 26, 29, 31, 35 and 37; and

C(39*51+j) for j=1, 4, 5, 7, 11, 13, 17, 19, 23, 25, 26, 29 and 31,

except C(39*k+35) for k=0, 13, 26 and 39 that are not punctured]
	[ffs]

	P2
	[C(39*k+j) for k=0,…,50 , j=2, 3, 8, 10, 12, 14, 16, 20, 22, 24, 28, 32, 34, 36 and 38; and

C(39*51+j) for j=2, 3, 8, 10, 12, 14, 16, 20, 22, 24, 28 and 32,

except C(39*k+34) for k=0, 17 and 34 that are not punctured]
	[ffs]


If a PAN is not included, the result is a block of 1248 bits, {c(0),...,c(1247)}.

If a PAN is included, the result is a block of 1170 bits, {c(0),...,c(1169)}.

5.1a.18.5
PAN coding

The PAN, if included, is defined as

pn(i) = d(686+i)    for i=0,…,24.

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.18.6
Interleaving

The interleaving is the same as for DAS-5 as specified in subclause 5.1a.16.6.
5.1a.18.7
Mapping on a burst

The mapping is the same as for for MCS-5 DL as specified in subclause 5.1.9.1.6.

NOTE:
In this case, the stealing flags q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identify the coding scheme DAS-5, DAS-6 or DAS-7.
5.1a.19
Packet data block type 30 (DAS-8)

5.1a.19.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 966 information bits {d(0),d(1),...,d(965).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2
h(k) = d(k-3)


for k = 3,...,40
i1(k-41) = d(k)

for k = 41,...,490
i2(k-491) = d(k)

for k = 491,...,940
And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965
5.1a.19.2
USF coding

The USF bits {u(0),u(1),u(2)} are block coded into 48 bits u’(0),u’(1),...,u’(47) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(47)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1

	001
	1 1 1 1 1 1 1 1 0 0 1 1
	0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1
	1 1 1 1 0 0 1 1 0 0 1 1

	010
	1 1 1 1 0 0 1 1 1 1 1 1
	0 0 1 1 1 1 1 1 0 0 1 1
	1 1 1 1 0 0 1 1 1 1 1 1
	0 0 1 1 1 1 1 1 0 0 1 1

	011
	0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1
	1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1

	100
	1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1
	0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1

	101
	0 0 1 1 1 1 1 1 0 0 1 1
	1 1 1 1 0 0 1 1 1 1 1 1
	0 0 1 1 1 1 1 1 0 0 1 1
	1 1 1 1 0 0 1 1 1 1 1 1

	110
	0 0 1 1 0 0 1 1 1 1 1 1
	1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1
	0 0 1 1 1 1 1 1 1 1 1 1

	111
	1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1


5.1a.19.3
Header coding

The header {h(0),...,h(37)} is coded as defined in subclause 5.1a.1.1, with N=38, resulting in a block of 138 bits, {C(0),...,C(137)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 136 bits, {hc(0),...,hc(135)}.
5.1a.19.4
Data coding

Each data part, {i1(0),…,i1(449)} and {i2(0),…,i2(449)}, is coded as defined in subclause 5.1a.1.3, with N=450, resulting in two coded blocks of 1398 bits, {C1(0),...,C1(1397)} and {C2(0),...,C2(1397)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(27*k+j) for k=0,…,50 , j=1, 4, 5, 7, 11, 13, 17, 19, 20, 23 and 25; and

C(27*51+j) for j=1, 4, 5, 7, 11, 13, 17, 19 and 20,

except C(27*k+20) for k=0, 13, 26 and 39, that are not punctured]
	[ffs]

	P2
	[C(27*k+j) for k=0,…,50 , j=0, 2, 6, 8, 10, 12, 14, 16, 18, 22 and 26; and

C(27*51+j) for j=0, 2, 6, 8, 10, 12, 14, 16 and 18,

except C(27*k+10) for k=0, 13, 26 and 39, that are not punctured]
	[ffs]


If a PAN is not included, the result is two blocks of 832 bits, {c1(0),...,c1(831)} and {c2(0),...,c2(831)}.

If a PAN is included, the result is two blocks of 793 bits, {c1(0),...,c1(792)} and {c2(0),...,c2(792)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.19.5
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.19.6
Interleaving

a)
Header

The header, {hc(0),...,hc(135)}, is interleaved as defined in subclause 5.1a.2.1, with NC=136 and a=9, resulting in a block of 136 bits, {hi(0),...,hi(135)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,831
dc(k) = c2(k-832)
for k = 832,...,1663
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,792
dc(k) = c2(k-793)
for k = 793,...,1585
dc(k) = pc(k-1586)
for k = 1586,...,1663
The block {dc(0),...,dc(1663)} is interleaved as defined in subclause 5.1a.2.1, with NC=1664 and a=[ffs], resulting in a block of 1664 bits, {di(0),...,di(1663)}.
5.1a.19.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(416B+j)

for j = 0,...,207
e(B,j) = hi(34B+j-208)
for j = 208,...,229
e(B,j) = q(2B+j-230)

for j = 230,231
e(B,j) = u’(12B+j-232)
for j = 232,...,243
e(B,j) = hi(34B+j-222)
for j = 244,...,255
e(B,j) = di(416B+j-48)
for j = 256,...,463
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DAS-8 or DAS-9.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.20
Packet data block type 31 (DAS-9)
5.1a.20.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1133 information bits {d(0),d(1),...,d(1132)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1158 information bits {d(0),d(1),...,d(1157).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40
i1(k-41) = d(k)

for k = 41,...,586
i2(k-587) = d(k)

for k = 587,...,1132
And if a PAN is included:

pn(k-1133) = d(k)

for k = 1133,...,1157
5.1a.20.2
USF coding

The USF coding is the same as for DAS-8 as specified in subclause 5.1a.19.2.

5.1a.20.3
Header coding

The header coding is the same as for DAS-8 as specified in subclause 5.1a.19.3.
5.1a.20.4
Data coding

Each data part, {i1(0),…,i1(545)} and {i2(0),…,i2(545)}, is coded as defined in subclause 5.1a.1.3, with N=546, resulting in two coded blocks of 1686 bits, {C1(0),...,C1(1685)} and {C2(0),...,C2(1685)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(39*k+j) for k=0,…,42 , j=1, 4, 5, 7, 10, 11, 14, 16, 17, 19, 22, 23, 25, 26, 29, 31, 32, 34, 37 and 38; and

C(39*43+j) for j=1, 4, 5 and 7,

except C(39*k+16) for k=0, 1, 5, 10, 15, 20, 25, 30, 35 and 40 that are not punctured]
	[ffs]

	P2
	[C(39*k+j) for k=0,…,42 , j=1, 2, 3, 5, 6, 8, 12, 13, 15, 17 ,20, 21, 24, 26, 28, 30, 32, 33, 35 and 38; and

C(39*43+j) for j=1, 2, 3, 5, 6 and 8,

except C(39*k+5) for k=0, 1, 4, 8, 12, 16, 20, 24, 28, 32, 36 and 40 that are not punctured]
	[ffs]

	P3
	[C(39*k+j) for k=0,…,42 , j=0, 2, 3, 7, 8, 9, 11, 12, 14, 16, 18, 20, 21, 23, 25, 27, 29, 31, 33 and 37; and

C(39*43+j) for j=0, 2, 3, 7 and 8,

except C(39*k+8) for k=0, 4, 8, 12, 16, 20, 24, 28, 32, 36 and 40 that are not punctured]
	[ffs]


If a PAN is not included, the result is two blocks of 832 bits, {c1(0),...,c1(831)} and {c2(0),...,c2(831)}.

If a PAN is included, the result is two blocks of 793 bits, {c1(0),...,c1(792)} and {c2(0),...,c2(792)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.20.5
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.

5.1a.20.6
Interleaving

The interleaving is the same as for DAS-8 as specified in subclause 5.1a.19.6.
5.1a.20.7
Mapping on a burst

The mapping is the same as for DAS-8 as specified in subclause 5.1a.19.6.

5.1a.21
Packet data block type 32 (DAS-10)
5.1a.21.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1355 information bits {d(0),d(1),...,d(1354)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1380 information bits {d(0),d(1),...,d(1379).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,38
i1(k-39) = d(k)

for k = 39,...,696
i2(k-697) = d(k)

for k = 697,...,1354
And if a PAN is included:

pn(k-1355) = d(k)

for k = 1355,...,1379
5.1a.21.2
USF coding

The USF bits {u(0),u(1),u(2)} are block coded into 60 bits u’(0),u’(1),...,u’(59) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(59)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

	001
	1 0 0 1 0 1 0 0 1 0 0 0 0 0 0
	0 0 0 0 0 1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 1 0 0 1 0
	1 0 0 1 0 0 0 0 0 0 0 0 0 0 0

	010
	1 0 0 1 0 0 0 0 0 0 1 0 0 1 0
	0 0 0 0 0 1 0 0 1 0 0 0 0 0 0
	1 0 0 1 0 0 0 0 0 0 1 0 0 1 0
	0 0 0 0 0 1 0 0 1 0 0 0 0 0 0

	011
	0 0 0 0 0 1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 1 0 0 1 0
	1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 0 0 0 0 0

	100
	1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 0 0 0 0 0
	0 0 0 0 0 1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 1 0 0 1 0

	101
	0 0 0 0 0 1 0 0 1 0 0 0 0 0 0
	1 0 0 1 0 0 0 0 0 0 1 0 0 1 0
	0 0 0 0 0 1 0 0 1 0 0 0 0 0 0
	1 0 0 1 0 0 0 0 0 0 1 0 0 1 0

	110
	0 0 0 0 0 0 0 0 0 0 1 0 0 1 0
	1 0 0 1 0 0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 0 0 0 0 0
	0 0 0 0 0 1 0 0 1 0 1 0 0 1 0

	111
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0


5.1a.21.3
Header coding

The header {h(0),...,h(35)} is coded as defined in subclause 5.1a.1.1, with N=36, resulting in a block of 132 bits, {C(0),...,C(131)}.

The coded header is defined as:

hc(k) = C(k)


for k = 0,...,131
5.1a.21.4
Data coding

Each data part, {i1(0),…,i1(657)} and {i2(0),…,i2(657)}, is coded as defined in subclause 5.1a.1.3, with N=658, resulting in two coded blocks of 2022 bits, {C1(0),...,C1(2021)} and {C2(0),...,C2(2021)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(27*k+j) for k=0,…,73 , j=1, 4, 5, 7, 9, 11, 13, 14, 16, 19, 21, 23 and 26; and

C(27*74+j) for j=1, 4, 5, 7, 9, 11, 13, 14, 16, 19, 21 and 23,

except C(27*k+7) for k=0, 13, 26 and 39 that are not punctured]
	[ffs]

	P2
	[C(27*k+j) for k=0,…,73 , j=0, 2, 3, 6, 8, 10, 12, 15, 17, 18, 20, 22 and 25; and

C(27*74+j) for j=0, 2, 3, 6, 8, 10, 12, 15, 17, 18, 20 and 22,

except C(27*k+12) for k=0, 13, 26 and 39 that are not punctured]
	[ffs]


If a PAN is not included, the result is two blocks of 1060 bits, {c1(0),...,c1(1059)} and {c2(0),...,c2(1059)}.

If a PAN is included, the result is two blocks of 1021 bits, {c1(0),...,c1(1020)} and {c2(0),...,c2(1020)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.21.5
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.21.6
Interleaving

a)
Header

The header, {hc(0),...,hc(131)}, is interleaved as defined in subclause 5.1a.2.1, with NC=132 and a=23, resulting in a block of 132 bits, {hi(0),...,hi(131)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,1059
dc(k) = c2(k-1060)
for k = 1060,...,2119
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,1020
dc(k) = c2(k-1021)
for k = 1021,...,2041
dc(k) = pc(k-2042)
for k = 2042,...,2119
The block {dc(0),...,dc(2119)} is interleaved as defined in subclause 5.1a.2.1, with NC=2120 and a=[ffs], resulting in a block of 2120 bits, {di(0),...,di(2119)}.
5.1a.21.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(530B+j)

for j = 0,...,264
e(B,j) = hi(33B+j-265)
for j = 265,...,287
e(B,j) = q(2B+j-288)

for j = 288,289
e(B,j) = u’(15B+j-290)
for j = 290,...,304
e(B,j) = hi(33B+j-282)
for j = 305,...,314
e(B,j) = di(530B+j-50)
for j = 315,...,579
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DAS-10.
b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.22
Packet data block type 33 (DAS-11)

5.1a.22.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1691 information bits {d(0),d(1),...,d(1690)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1716 information bits {d(0),d(1),...,d(1715).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52
i1(k-53) = d(k)

for k = 53,...,598
i2(k-599) = d(k)

for k = 599,...,1144

i3(k-1145) = d(k)

for k = 1145,...,1690
And if a PAN is included:

pn(k-1691) = d(k)

for k = 1691,...,1715
5.1a.22.2
USF coding

The USF coding is the same as for DAS-10 as specified in subclause 5.1a.21.2.
5.1a.22.3
Header coding

The header {h(0),...,h(49)} is coded as defined in subclause 5.1a.1.1, with N=50, resulting in a block of 174 bits, {C(0),...,C(173)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 152 bits, {hc(0),...,hc(151)}.
5.1a.22.4
Data coding

Each data part, {i1(0),…,i1(545)}, {i2(0),…,i2(545)} and {i3(0),…,i3(545)}, is coded as defined in subclause 5.1a.1.3, with N=546, resulting in three coded blocks of 1686 bits, {C1(0),...,C1(1685)}, {C2(0),...,C2(1685)} and {C3(0),...,C3(1685)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(39*k+j) for k=0,…,42 , j=2, 4, 5, 7, 8, 10, 11, 14, 16, 17, 19, 20, 22, 23, 26, 28, 29, 31, 32, 34, 35, 37 and 38; and

C(39*43+j) for j=2, 4, 5, 7 and 8,

except C(39*k+34) for k=0, 6, 12, 18, 24, 30, 36 and 42 that are not punctured]
	[ffs]

	P2
	[C(39*k+j) for k=0,…,42 , j=1, 3, 5, 7, 8, 9, 11, 13, 15, 17, 18, 20, 21, 23, 25, 27, 29, 30, 32, 33, 35, 36 and 38; and

C(39*43+j) for j=1, 3, 5, 7 and 8,

except C(39*k+35) for k=0, 6, 12, 18, 24, 30, 36 and 42 that are not punctured]
	[ffs]

	P3
	[C(39*k+j) for k=0,…,42 , j=1, 2, 3, 4, 6, 9, 10, 13, 14, 16, 18, 19, 21, 22, 24, 26, 28, 30, 31, 33, 34, 36 and 37; and

C(39*43+j) for j=1, 2, 3, 4 and 6,

except C(39*k+16) for k=0, 6, 12, 18, 24, 30, 36 and 42 that are not punctured]
	[ffs]


If a PAN is not included, the result is three blocks of 700 bits, {c1(0),...,c1(699)}, {c2(0),...,c2(699)} and {c3(0),...,c3(699)}.

If a PAN is included, the result is two blocks of 674 bits, {c1(0),...,c1(673)}, {c2(0),...,c2(673)} and {c3(0),...,c3(673)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2 and C3 and c3 to i3.
5.1a.22.5
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.22.6
Interleaving

a)
Header

The header, {hc(0),...,hc(151)}, is interleaved as defined in subclause 5.1a.2.1, with NC=152 and a=13, resulting in a block of 152 bits, {hi(0),...,hi(151)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,699
dc(k) = c2(k-700)
for k = 700,...,1399
dc(k) = c3(k-700)
for k = 1400,...,2099

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,673
dc(k) = c2(k-674)
for k = 674,...,1347
dc(k) = c3(k-1348)
for k = 1348,...,2021
dc(k) = pc(k-2022)
for k = 2022,...,2099
The block {dc(0),...,dc(2099)} is interleaved as defined in subclause 5.1a.2.1, with NC=2100 and a=[ffs], resulting in a block of 2100 bits, {di(0),...,di(2099)}.
5.1a.22.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(525B+j)

for j = 0,...,262
e(B,j) = hi(38B+j-263)
for j = 263,...,287

e(B,j) = q(2B+j-288)

for j = 288,289

e(B,j) = u’(15B+j-290)
for j = 290,...,304

e(B,j) = hi(38B+j-280)
for j = 305,...,317
e(B,j) = di(525B+j-55)
for j = 318,...,579
where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme DAS-11 or DAS-12.
b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.23
Packet data block type 34 (DAS-12)

5.1a.23.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2027 information bits {d(0),d(1),...,d(2026)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2052 information bits {d(0),d(1),...,d(2051).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52

i1(k-53) = d(k)

for k = 53,...,710
i2(k-711) = d(k)

for k = 711,...,1368
i3(k-1369) = d(k)

for k = 1369,...,2026
And if a PAN is included:

pn(k-2027) = d(k)

for k = 2027,...,2051
5.1a.23.2
USF coding

The USF coding is the same as for DAS-10 as specified in subclause 5.1a.21.2.

5.1a.23.3
Header coding

The header coding is the same as for DAS-11 as specified in subclause 5.1a.22.3.
5.1a.23.4
Data coding

Each data part, {i1(0),…,i1(657)}, {i2(0),…,i2(657)} and {i3(0),…,i3(657)}, is coded as defined in subclause 5.1a.1.3, with N=658, resulting in three coded blocks of 2022 bits, {C1(0),...,C1(2021)}, {C2(0),...,C2(2021)} and {C3(0),...,C3(2021)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[ffs]
	[ffs]

	P2
	[ffs]
	[ffs]

	P3
	[ffs]
	[ffs]


If a PAN is not included, the result is three blocks of 700 bits, {c1(0),...,c1(699)}, {c2(0),...,c2(699)} and {c3(0),...,c3(699)}.

If a PAN is included, the result is two blocks of 674 bits, {c1(0),...,c1(673)}, {c2(0),...,c2(673)} and {c3(0),...,c3(673)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2 and C3 and c3 to i3..
5.1a.23.5
PAN coding

The PAN coding is the same as for for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.22.6
Interleaving

a)
Header

The header, {hc(0),...,hc(151)}, is interleaved as defined in subclause 5.1a.2.1, with NC=152 and a=13, resulting in a block of 152 bits, {hi(0),...,hi(151)}.
b)
Data and PAN
If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,699
dc2(k) = c2(k)


for k = 0,...,699

dc3(k) = c3(k)


for k = 0,...,699

If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,673
dc1(k) = pc(3k-2022)
for k = 674,...,699

dc2(k) = c2(k)


for k = 0,...,673

dc2(k) = pc(3k-2021)
for k = 674,...,699

dc3(k) = c3(k)


for k = 0,...,673

dc3(k) = pc(3k-2020)
for k = 674,...,699

The three blocks {dc1(0),...,dc1(699)}, {dc2(0),...,dc2(699)} and {dc3(0),...,dc3(699)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=700 and a=[ffs], resulting in the three blocks {di1(0),…,di1(699)}, {di2(0),…,di2(699)} and {di3(0),…,di3(699)}, where di1 corresponds to dc1, di2 to dc2 and di3 to dc3.
The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,699
di(k) = di2(k-700)

for k = 700,...,1399
di(k) = di3(k-1400)

for k = 1400,...,2099
5.1a.23.7
Mapping on a burst

The header coding is the same as for DAS-11 as specified in subclause 5.1a.22.7.

5.1a.24
Packet data block type 35 (DBS-5)
5.1a.24.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 480 information bits {d(0),d(1),...,d(479)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 505 information bits {d(0),d(1),...,d(504).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,29
i(k-30) = d(k)

for k = 30,...,479
And if a PAN is included:

pn(k-480) = d(k)

for k = 480,...,504
5.1a.24.2
USF coding

The USF bits {u(0),u(1),u(2)} are block coded into 32 bits u’(0),u’(1),...,u’(31) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(31)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1

	001
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1

	010
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1

	011
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1

	100
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0

	101
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0

	110
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0

	111
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0


5.1a.24.3
Header coding

The header {h(0),...,h(26)} is coded as defined in subclause 5.1a.1.1, with N=27, resulting in a block of 105 bits, {C(0),...,C(104)}.

The code is repeated in such a way that the following coded bits:

[ffs]
This results in a block of 108 bits, {hc(0),...,hc(107)}.
5.1a.24.4
Data coding

The data part, {i(0),…,i(449)}, is coded as defined in subclause 5.1a.1.3, with N=450, resulting in a coded blocks of 1398 bits, {C(0),...,C(1397)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(18*k+j) for k=0,…,76 , j=0, 5, 7, 11, 13 and 17; and

C(18*77+j) for j=0, 5, 7 and 11,

except C(18*k+11) for k=0, 1, 4, 8, 12, 16, 20, 21, 24, 28, 32, 36, 40, 41, 44, 48, 52, 56, 60, 61, 64, 68, 72 and 76 that are not punctured]
	[ffs]

	P2
	[C(18*k+j) for k=0,…,76 , j=2, 4, 8, 10, 14 and16; and

C(18*77+j) for j=2, 4, 8 and 10,

except C(18*k+10) for k=0, 1, 4, 8, 12, 16, 20, 21, 24, 28, 32, 36, 40, 41, 44, 48, 52, 56, 60, 61, 64, 68, 72 and 76 that are not punctured]
	[ffs]


If a PAN is not included, the result is a block of 956 bits, {c(0),...,c(955)}.

If a PAN is included, the result is a block of 876 bits, {c(0),...,c(875)}.

5.1a.24.5
PAN coding

The PAN coding is the same as for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.24.6
Interleaving

a)
Header

The header, {hc(0),...,hc(107)}, is interleaved as defined in subclause 5.1a.2.1, with NC=108 and a=[ffs], resulting in a block of 108 bits, {hi(0),...,hi(107)}.
b)
Data and PAN
If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,955
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c(k)


for k = 0,...,875
dc(k) = pc(k-876)
for k = 876,...,955
The block {dc(0),...,dc(955)} is interleaved as defined in subclause 5.1a.2.1, with NC=956 and a=[ffs], resulting in a block of 956 bits, {di(0),...,di(955)}.
5.1a.24.7
Mapping on a burst

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(239B+j)

for j = 0,...,119
e(B,j) = hi(27B+j-120)
for j = 120,...,135
e(B,j) = q(2B+j-136)

for j = 136,137
e(B,j) = u’(8B+j-138)
for j = 138,...,145
e(B,j) = hi(27B+j-130)
for j = 146,...,156
e(B,j) = di(239B+j-37)
for j = 157,...,275
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DBS-5 or DBS-6.

5.1a.25
Packet data block type 36 (DBS-6)
5.1a.25.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 624 information bits {d(0),d(1),...,d(623)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 649 information bits {d(0),d(1),...,d(648).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,29
i(k-30) = d(k)


for k = 30,...,623
And if a PAN is included:

pn(k-624) = d(k)

for k = 624,...,648
5.1a.25.2
USF coding

The USF coding is the same as for DBS-5 as specified in subclause 5.1a.24.2.

5.1a.25.3
Header coding

The header coding is the same as for DBS-5 as specified in subclause 5.1a.24.3.
5.1a.25.4
Data coding

The data part, {i(0),…,i(593)}, is coded as defined in subclause 5.1a.1.3, with N=594, resulting in a coded blocks of 1830 bits, {C(0),...,C(1829)}.

The coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(27*k+j) for k=0,…,66 , j=0, 2, 4, 7, 9, 13, 14, 16, 17, 18, 20, 22 and 26; and

C(27*67+j) for j=0, 2, 4, 7, 9, 13, 14, 16, 17, 18 and 20,

except C(27*k+9) for k=0, 9, 18, 27, 36, 45, 54 and 63 that are not punctured]
	[ffs]

	P2
	[C(27*k+j) for k=0,…,66 , j=1, 3, 5, 6, 8, 10, 11, 12, 15, 19, 21, 23 and 24; and

C(27*67+j) for j=1, 3, 5, 6, 8, 10, 11, 12, 15 and 19,

except C(27*k+6) for k=0, 10, 20, 30, 40, 50 and 60 that are not punctured]
	[ffs]


If a PAN is not included, the result is a block of 956 bits, {c(0),...,c(955)}.

If a PAN is included, the result is a block of 876 bits, {c(0),...,c(875)}.

5.1a.25.5
PAN coding

The PAN coding is the same as for UBS-5 as specified in subclause 5.1a.8.4.

5.1a.25.6
Interleaving
The interleaving is the same as for DBS-5 as specified in subclause 5.1a.24.6.
5.1a.25.7
Mapping on a burst

The mapping is the same as for DBS-5 as specified in subclause 5.1a.24.7.

5.1a.26
Packet data block type 37 (DBS-7)
5.1a.26.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 941 information bits {d(0),d(1),...,d(940)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 966 information bits {d(0),d(1),...,d(965).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40
i1(k-41) = d(k)

for k = 41,...,490
i2(k-491) = d(k)

for k = 491,...,940
And if a PAN is included:

pn(k-941) = d(k)

for k = 941,...,965
5.1a.26.2
USF coding

The USF bits {u(0),u(1),u(2)} are block coded into 64 bits u’(0),u’(1),...,u’(63) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(63)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1

	001
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1

	010
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1

	011
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1

	100
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1

	101
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1

	110
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

	111
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1


5.1a.26.3
Header coding

The header {h(0),...,h(37)} is coded as defined in subclause 5.1a.1.1, with N=38, resulting in a block of 138 bits, {C(0),...,C(137)}.

The code is repeated in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

The result is a block of 144 coded bits, {hc(0),...,hc(143)}.

5.1a.26.4
Data coding

Each data part, {i1(0),…,i1(449)} and {i2(0),…,i2(449)}, is coded as defined in subclause 5.1a.1.3, with N=450, resulting in two coded blocks of 1398 bits, {C1(0),...,C1(1397)} and {C2(0),...,C2(1397)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(21*k+j) for k=0,…,65 , j=1, 5, 7, 11, 13 and 17; and

C(21*66+j) for j=1, 5, 7 and 11,

except C(21*k+11) for k=0 and 33 that are not punctured]
	[ffs]

	P2
	[C(21*k+j) for k=0,…,65 , j=2, 4, 8, 10, 14 and 19; and

C(21*66+j) for j=2, 4, 8 and 10,

except C(21*k+10) for k=0 and 33 that are not punctured]
	[ffs]


If a PAN is not included, the result is two blocks of 996 bits, {c1(0),...,c1(995)} and {c2(0),...,c2(995)}.

If a PAN is included, the result is two blocks of 956 bits, {c1(0),...,c1(955)} and {c2(0),...,c2(955)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.26.5
PAN coding

The PAN coding is the same as for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.26.6
Interleaving

a)
Header

The header, {hc(0),...,hc(143)}, is interleaved as defined in subclause 5.1a.2.1, with NC=144 and a=[ffs], resulting in a block of 144 bits, {hi(0),...,hi(143)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,995
dc(k) = c2(k-996)
for k = 996,...,1991
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,955
dc(k) = c2(k-956)
for k = 956,...,1911
dc(k) = pc(k-1912)
for k = 1912,...,1991
The block {dc(0),...,dc(1991)} is interleaved as defined in subclause 5.1a.2.1, with NC=1992 and a=[ffs], resulting in a block of 1992 bits, {di(0),...,di(1991)}.
5.1a.26.7
Mapping on a burst

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(498B+j)

for j = 0,...,248
e(B,j) = hi(36B+j-249)
for j = 249,...,273
e(B,j) = q(2B+j-274)

for j = 274,275
e(B,j) = u’(16B+j-276)
for j = 276,...,291
e(B,j) = hi(36B+j-267)
for j = 292,...,302
e(B,j) = di(498B+j-54)
for j = 303,...,551
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DBS-7 or DBS-8.

5.1a.27
Packet data block type 38 (DBS-8)
5.1a.27.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1229 information bits {d(0),d(1),...,d(1228)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1254 information bits {d(0),d(1),...,d(1253).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,40
i1(k-41) = d(k)

for k = 41,...,634
i2(k-635) = d(k)

for k = 635,...,1228
And if a PAN is included:

pn(k-1229) = d(k)
for k = 1229,...,1253
5.1a.27.2
USF coding

The USF coding is the same as for DBS-7 as specified in subclause 5.1a.26.2.

5.1a.27.3
Header coding

The header coding is the same as for DBS-7 as specified in subclause 5.1a.26.3.
5.1a.27.4
Data coding

Each data part, {i1(0),…,i1(593)} and {i2(0),…,i2(593)}, is coded as defined in subclause 5.1a.1.3, with N=594, resulting in two coded blocks of 1830 bits, {C1(0),...,C1(1829)} and {C2(0),...,C2(1829)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Two puncturing schemes named P1 or P2 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(33*k+j) for k=0,…,54 , j=0, 2, 4, 8, 10, 13, 15, 17, 19, 23, 25, 26, 29, 31 and 32; and

C(33*55+j) for j=0, 2, 4, 8, 10 and 13,

except C(15) that is not punctured]
	[ffs]

	P2
	[C(33*k+j) for k=0,…,54 , j=1, 3, 5, 7, 9, 11, 12, 14, 16, 18, 20, 22, 24, 28 and 30; and

C(33*55+j) for j=1, 3, 5, 7, 9, 11, 12 and 14,

except C(33*k+12) for k=0, 19 and 38 that is not punctured]
	[ffs]


If a PAN is not included, the result is two blocks of 996 bits, {c1(0),...,c1(995)} and {c2(0),...,c2(995)}.

If a PAN is included, the result is two blocks of 956 bits, {c1(0),...,c1(955)} and {c2(0),...,c2(955)}.

NOTE:
C1 and c1 correspond to i1, and C2 and c2 to i2.
5.1a.27.5
PAN coding

The PAN coding is the same as for UBS-5 as specified in subclause 5.1a.8.4.

5.1a.27.6
Interleaving

The interleaving is the same as for DBS-7 as specified in subclause 5.1a.26.6.

5.1a.27.7
Mapping on a burst

The mapping is the same as for DBS-7 as specified in subclause 5.1a.26.7.

5.1a.28
Packet data block type 39 (DBS-9)
5.1a.28.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1403 information bits {d(0),d(1),...,d(1402)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1428 information bits {d(0),d(1),...,d(1427).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52
i1(k-53) = d(k)

for k = 53,...,502
i2(k-503) = d(k)

for k = 503,...,952
i3(k-953) = d(k)

for k = 953,...,1402
And if a PAN is included:

pn(k-1403) = d(k)

for k = 1403,...,1427
5.1a.28.2
USF coding

The USF coding is the same as for DBS-7 as specified in subclause 5.1a.26.2.
5.1a.28.3
Header coding

The header {h(0),...,h(49)} is coded as defined in subclause 5.1a.1.1, with N=50, resulting in a block of 174 bits, {C(0),...,C(173)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 168 bits, {hc(0),...,hc(167)}.
5.1a.28.4
Data coding

Each data part, {i1(0),…,i1(449)}, {i2(0),…,i2(449)} and {i3(0),…,i3(449)}, is coded as defined in subclause 5.1a.1.3, with N=450, resulting in three coded blocks of 1398 bits, {C1(0),...,C1(1397)}, {C2(0),...,C2(1397)} and {C3(0),...,C3(1397)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(30*k+j) for k=0,…,45 , j=1, 2, 4, 7, 8, 10, 13, 14, 16, 17, 19, 20, 22, 25, 26 and 28; and

C(30*46+j) for j=1, 2, 4, 7, 8, 10, 13, 14, 16 and 17,

except C(30*k+17) for k=0, 12, 24 and 36 that are not punctured]
	[ffs]

	P2
	[C(30*k+j) for k=0,…,45 , j=0, 2, 4, 5, 6, 10, 11, 12, 14, 15, 18, 22, 23, 24, 28 and 29; and

C(30*46+j) for j=0, 2, 4, 5, 6, 10, 11, 12, 14 and 15,

except C(30*k+2) for k=0, 12, 24 and 36 that are not punctured]
	[ffs]

	P3
	[C(30*k+j) for k=0,…,45 , j=1, 3, 5, 7, 9, 11, 12, 16, 17, 18, 19, 21, 23, 25, 27 and 29; and

C(30*46+j) for j=1, 3, 5, 7, 9, 11, 12, 16 and 17,

except C(30*k+19) for k=0, 16 and 32 that are not punctured]
	[ffs]


If a PAN is not included, the result is three blocks of 656 bits, {c1(0),...,c1(655)}, {c2(0),...,c2(655)} and {c3(0),...,c3(655)}.

If a PAN is included, the result is two blocks of 630 bits, {c1(0),...,c1(629)}, {c2(0),...,c2(629)} and {c3(0),...,c3(629)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2 and C3 and c3 to i3..
5.1a.28.5
PAN coding

The PAN coding is the same as for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.28.6
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=[ffs], resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,655
dc(k) = c2(k-656)
for k = 656,...,1311
dc(k) = c3(k-1312)
for k = 1312,...,1967
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,629
dc(k) = c2(k-630)
for k = 630,...,1259
dc(k) = c3(k-1260)
for k = 1260,...,1889
dc(k) = pc(k-1890)
for k = 1890,...,1967
dc(k) = 0



for k = 1967

The block {dc(0),...,dc(1967)} is interleaved as defined in subclause 5.1a.2.1, with NC=1968 and a=[ffs], resulting in a block of 1968 bits, {di(0),...,di(1967)}.
5.1a.28.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(492B+j)

for j = 0,...,245
e(B,j) = hi(42B+j-246)
for j = 246,...,273
e(B,j) = q(2B+j-274)

for j = 274,275
e(B,j) = u’(16B+j-276)
for j = 276,...,291
e(B,j) = hi(42B+j-264)
for j = 292,...,305
e(B,j) = di(492B+j-60)
for j = 306,...,551
where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme DBS-9.
b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.29
Packet data block type 40 (DBS-10)
5.1a.29.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 1835 information bits {d(0),d(1),...,d(1834)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 1860 information bits {d(0),d(1),...,d(1859).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,52
i1(k-53) = d(k)

for k = 53,...,646
i2(k-647) = d(k)

for k = 647,...,1240
i3(k-1241) = d(k)

for k = 1241,...,1834
And if a PAN is included:

pn(k-1835) = d(k)

for k = 1835,...,1859
5.1a.29.2
USF coding

The USF bits {u(0),u(1),u(2)} are block coded into 80 bits u’(0),u’(1),...,u’(79) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(79)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0

	001
	1 0 0 1 0 1 0 0 1 0
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 
0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0

	010
	1 0 0 1 0 1 0 0 1 0 
0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 
0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0
0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0
0 0 0 0 0 0 0 0 0 0

	011
	0 0 0 0 0 0 0 0 0 0 
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0
0 0 0 0 0 0 0 0 0 0

	100
	1 0 0 1 0 1 0 0 1 0 
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 
0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0
1 0 0 1 0 1 0 0 1 0

	101
	0 0 0 0 0 0 0 0 0 0
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0
1 0 0 1 0 1 0 0 1 0

	110
	0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 
1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0
 0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0
1 0 0 1 0 1 0 0 1 0

	111
	1 0 0 1 0 1 0 0 1 0
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 
1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0
1 0 0 1 0 1 0 0 1 0


5.1a.29.3
Header coding

The header coding is the same as for DBS-9 as specified in subclause 5.1a.28.3.
5.1a.29.4
Data coding

Each data part, {i1(0),…,i1(593)}, {i2(0),…,i2(593)} and {i3(0),…,i3(593)}, is coded as defined in subclause 5.1a.1.3, with N=594, resulting in three coded blocks of 1830 bits, {C1(0),...,C1(1829)}, {C2(0),...,C2(1829)} and {C3(0),...,C3(1829)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(33*k+j) for k=0,…,54 , j=1, 2, 4, 7, 8, 10, 13, 14, 16, 17, 19, 20, 22, 25, 26, 28, 31 and 32; and

C(33*55+j) for j=1, 2, 4, 7, 8, 10, 13 and 14,

except C(17) that is not punctured]
	[ffs]

	P2
	[C(33*k+j) for k=0,…,54 , j=0, 4, 5, 6, 10, 11, 12, 14, 15, 18, 20, 22, 23, 24, 28, 29, 30 and 32; and

C(33*55+j) for j=0, 4, 5, 6, 10, 11, 12 and 14,

except C(4) that is not punctured]
	[ffs]

	P3
	[C(33*k+j) for k=0,…,54 , j=0, 2, 3, 5, 7, 9, 11, 12, 16, 17, 18, 21, 23 ,25, 26, 27, 29 and 31; and

C(33*55+j) for j=0, 2, 3, 5, 7, 9, 11 and 12,

except C(26) that is not punctured]
	[ffs]


If a PAN is not included, the result is three blocks of 833 bits, {c1(0),...,c1(832)}, {c2(0),...,c2(832)} and {c3(0),...,c3(832)}.

If a PAN is included, the result is two blocks of 807 bits, {c1(0),...,c1(806)}, {c2(0),...,c2(806)} and {c3(0),...,c3(806)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2 and C3 and c3 to i3..
5.1a.29.5
PAN coding

The PAN coding is the same as for UAS-7 as specified in subclause 5.1a.3.4.
5.1a.29.6
Interleaving

a)
Header

The header interleaving is the same as for for DBS-9 as specified in subclause 5.1a.28.6.
b)
Data and PAN
If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,832
dc(k) = c2(k-833)
for k = 833,...,1665
dc(k) = c3(k-1666)
for k = 1666,...,2498
dc(k) = 0



for k = 2499
If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,806
dc(k) = c2(k-807)
for k = 807,...,1613
dc(k) = c3(k-1614)
for k = 1614,...,2420
dc(k) = pc(k-2421)
for k = 2421,...,2498
dc(k) = 0



for k = 2499
The block {dc(0),...,dc(2499)} is interleaved as defined in subclause 5.1a.2.1, with NC=2500 and a=[ffs], resulting in a block of 2500 bits, {di(0),...,di(2499)}.
5.1a.29.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(625B+j)

for j = 0,...,312
e(B,j) = hi(42B+j-313)
for j = 313,...,341
e(B,j) = q(3B+j-342)

for j = 342,...,344
e(B,j) = u’(20B+j-345)
for j = 345,...,364
e(B,j) = hi(42B+j-336)
for j = 365,...,377
e(B,j) = di(625B+j-65)
for j = 378,...,689
where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0,0,0,0,0 identifies the coding scheme DBS-10.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.30
Packet data block type 41 (DBS-11)

5.1a.30.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2249 information bits {d(0),d(1),...,d(2248)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2274 information bits {d(0),d(1),...,d(2273).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,64
i1(k-65) = d(k)

for k = 65,...,610
i2(k-611) = d(k)

for k = 611,...,1156
i3(k-1157) = d(k)

for k = 1157,...,1702
i4(k-1703) = d(k)

for k = 1703,...,2248

And if a PAN is included:

pn(k-2249) = d(k)

for k = 2249,...,2273
5.1a.30.2
USF coding

The USF coding is the same as for DBS-10 as specified in subclause 5.1a.29.2.
5.1a.30.3
Header coding

The header {h(0),...,h(61)} is coded as defined in subclause 5.1a.1.1, with N=62, resulting in a block of 210 bits, {C(0),...,C(209)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 188 bits, {hc(0),...,hc(187)}.
5.1a.30.4
Data coding

Each data part, {i1(0),…,i1(545)}, {i2(0),…,i2(545)}, {i3(0),…,i3(545)} and {i4(0),…,i4(545)}, is coded as defined in subclause 5.1a.1.2, with N=546, resulting in four coded blocks of 1686 bits, {C1(0),...,C1(1685)}, {C2(0),...,C2(1685)}, {C3(0),...,C3(1685)} and {C4(0),...,C4(1685)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[C(30*k+j) for k=0,…,55 , j=0, 2, 4, 5, 7, 8, 9, 11, 13, 14, 17, 19, 20, 21, 23, 25, 26, 28 and 29; and

C(30*56+j) for j=0, 2, 4 and 5,

except C(30*k+21) for k=0 and 28 that are not punctured]
	[ffs]

	P2
	[C(30*k+j) for k=0,…,55 , j=1, 3, 5, 6, 8, 10, 11, 12, 14, 15, 16, 18, 20, 22, 23, 24, 26, 27 and 29; and

C(30*56+j) for j=1, 3 and 5,

except C(15) that is not punctured]
	[ffs]

	P3
	[C(30*k+j) for k=0,…,55 , j=1, 2, 3, 4, 6, 7, 9, 10, 12, 13, 16, 17, 18, 19, 21, 22, 25, 27 and 28; and

C(30*56+j) for j=1, 2, 3 and 4,

except C(30*k+13) for k=0 and 28 that are not punctured]
	[ffs]


If a PAN is not included, the result is four blocks of 620 bits, {c1(0),...,c1(619)}, {c2(0),...,c2(619)}, {c3(0),...,c3(619)} and {c4(0),...,c4(619)}.

If a PAN is included, the result is four blocks of 600 bits, {c1(0),...,c1(599)}, {c2(0),...,c2(599)}, {c3(0),...,c3(599)} and {c4(0),...,c4(599)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, C3 and c3 to i3, and C4 and c4 to i4.

5.1a.30.5
PAN coding

The PAN coding is the same as for for UBS-5 as specified in subclause 5.1a.8.4.
5.1a.30.6
Interleaving

a)
Header

The header, {hc(0),...,hc(187)}, is interleaved as defined in subclause 5.1a.2.1, with NC=188 and a=[ffs], resulting in a block of 188 bits, {hi(0),...,hi(187)}.
b)
Data and PAN
If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,619
dc2(k) = c2(k)


for k = 0,...,619
dc3(k) = c3(k)


for k = 0,...,619
dc4(k) = c4(k)


for k = 0,...,619
If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,599
dc1(k) = pc(4k-2400)
for k = 600,...,619

dc2(k) = c2(k)


for k = 0,...,599
dc2(k) = pc(4k-2399)
for k = 600,...,619

dc3(k) = c3(k)


for k = 0,...,599
dc3(k) = pc(4k-2398)
for k = 600,...,619

dc4(k) = c4(k)


for k = 0,...,599
dc4(k) = pc(4k-2397)
for k = 600,...,619

The four blocks {dc1(0),...,dc1(619)}, {dc2(0),...,dc2(619)}, {dc3(0),...,dc3(619)} and {dc4(0),...,dc4(619)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=620 and a=[ffs], resulting in the four blocks {di1(0),…,di1(619)}, {di2(0),…,di2(619)}, {di3(0),…,di3(619)} and {di4(0),…,di4(619)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.
The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,619
di(k) = di2(k-620)

for k = 620,...,1239
di(k) = di3(k-1240)

for k = 1240,...,1859
di(k) = di4(k-1860)

for k = 1860,...,2479

5.1a.30.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(620B+j)

for j = 0,...,309
e(B,j) = hi(47B+j-310)
for j = 310,...,341

e(B,j) = q(3B+j-342)

for j = 342,...,344

e(B,j) = u’(20B+j-345)
for j = 345,...,364

e(B,j) = hi(47B+j-333)
for j = 365,...,379
e(B,j) = di(620B+j-70)
for j = 380,...,689
where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1,1,1,1,1 identifies the coding scheme DBS-11 or DBS-12.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

[ffs].

5.1a.31
Packet data block type 42 (DBS-12)
5.1a.31.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 2441 information bits {d(0),d(1),...,d(2440)}. If the message delivered to the encoder includes a PAN (for RL-EGPRS only), it has a fixed size of 2466 information bits {d(0),d(1),...,d(2465).
NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

The message is separated into the following parts:

u(k) = d(k)


for k = 0,...,2

h(k) = d(k-3)


for k = 3,...,64

i1(k-65) = d(k)

for k = 65,...,658
i2(k-659) = d(k)

for k = 659,...,1252
i3(k-1253) = d(k)

for k = 1253,...,1846
i4(k-1847) = d(k)

for k = 1847,...,2440
And if a PAN is included:

pn(k-2441) = d(k)

for k = 2441,...,2465
5.1a.31.2
USF coding

The USF coding is the same as for DBS-10 as specified in subclause 5.1a.29.2.

5.1a.31.3
Header coding

The header coding is the same as for DBS-11 as specified in subclause 5.1a.30.3.
5.1a.31.4
Data coding

Each data part, {i1(0),…,i1(593)}, {i2(0),…,i2(593)}, {i3(0),…,i3(593)} and {i4(0),…,i4(593)}, is coded as defined in subclause 5.1a.1.2, with N=594, resulting in four coded blocks of 1830 bits, {C1(0),...,C1(1829)}, {C2(0),...,C2(1829)}, {C3(0),...,C3(1829)} and {C4(0),...,C4(1829)}.

Each coded block is punctured depending on the value of the CPS field as defined in 3GPP TS 44.060. Three puncturing schemes named P1, P2 or P3 are applied in such a way that the following coded bits are punctured:

	
	Always punctured
	Punctured only if a PAN is included

	P1
	[ffs]
	[ffs]

	P2
	[ffs]
	[ffs]

	P3
	[ffs]
	[ffs]


If a PAN is not included, the result is four blocks of 620 bits, {c1(0),...,c1(619)}, {c2(0),...,c2(619)}, {c3(0),...,c3(619)} and {c4(0),...,c4(619)}.

If a PAN is included, the result is four blocks of 606 bits, {c1(0),...,c1(605)}, {c2(0),...,c2(605)}, {c3(0),...,c3(605)} and {c4(0),...,c4(605)}.

NOTE:
C1 and c1 correspond to i1, C2 and c2 to i2, C3 and c3 to i3, and C4 and c4 to i4.

5.1a.31.5
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(k) for k = [ffs]} are not transmitted

This results in a block of 56 bits, {hc(0),...,hc(55)}.
5.1a.31.6
Interleaving

a)
Header

The header interleaving is the same as for for DBS-11 as specified in subclause 5.1a.30.6.
b)
Data and PAN
If a PAN is not included, the following definitions apply:
dc1(k) = c1(k)


for k = 0,...,619
dc2(k) = c2(k)


for k = 0,...,619
dc3(k) = c3(k)


for k = 0,...,619
dc4(k) = c4(k)


for k = 0,...,619
If a PAN is included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,605
dc1(k) = pc(4k-2424)
for k = 606,...,619
dc2(k) = c2(k)


for k = 0,...,605
dc2(k) = pc(4k-2423)
for k = 606,...,619
dc3(k) = c3(k)


for k = 0,...,605
dc3(k) = pc(4k-2422)
for k = 606...,619
dc4(k) = c4(k)


for k = 0,...,605
dc4(k) = pc(4k-2421)
for k = 606...,619
The four blocks {dc1(0),...,dc1(619)}, {dc2(0),...,dc2(619)}, {dc3(0),...,dc3(619)} and {dc4(0),...,dc4(619)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=620 and a=[ffs], resulting in the four blocks {di1(0),…,di1(619)}, {di2(0),…,di2(619)}, {di3(0),…,di3(619)} and {di4(0),…,di4(619)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.
The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,619
di(k) = di2(k-620)

for k = 620,...,1239
di(k) = di3(k-1240)

for k = 1240,...,1859
di(k) = di4(k-1860)

for k = 1860,...,2479
5.1a.31.7
Mapping on a burst

The mapping is the same as for DBS-11 as specified in subclause 5.1a.30.7.
***************** next modified clause *****************
Annex B (informative):
Summary of Polynomials Used for Convolutional Codes and Turbo Codes
G0 = 1+ D3 + D4
TCH/FS, TCH/EFS, TCH/AFS, TCH/WFS, TCH/AHS, TCH/F14.4, TCH/F9.6, TCH/H4.8, SDCCH, BCCH, PCH, SACCH, FACCH, E-FACCH, AGCH, RACH, SCH, CSCH, CTSBCH-SB, CTSPCH, CTSARCH, CTSAGCH, PDTCH (CS-1, CS-2, CS3, CS-4), PACCH,PBCCH, PAGCH, PPCH, PTCCH, PRACH, CPBCCH, CPAGCH, CPPCH, MPRACH

G1 = 1 + D + D3 + D4
TCH/FS, TCH/EFS, TCH/AFS, TCH/WFS, TCH/AHS, TCH/F14.4, TCH/F9.6, TCH/H4.8, SACCH, FACCH, E-FACCH, SDCCH, BCCH,PCH, AGCH, RACH, SCH,  TCH/F4.8, TCH/F2.4, TCH/H2.4,PDTCH(CS-1, CS-2, CS-3, CS-4), PACCH, PBCCH, PAGCH, PPCH, PTCCH, PRACH, CPBCCH, CPAGCH, CPPCH, MPRACH

G2 = 1 + D2 + D4
TCH/AFS, TCH/WFS, TCH/F4.8, TCH/F2.4, TCH/H2.4
G3 = 1 + D + D2 + D3 + D4
TCH/AFS, TCH/WFS, TCH/F4.8, TCH/F2.4, TCH/H2.4
G4 = 1 + D2 + D3 + D5 + D6
TCH/HS, TCH/AFS, TCH/AHS, O-TCH/AHS, O-TCH/WFS, O-TCH/WHS, E-TCH/F43.2, E-TCH/F32.0, E-TCH/F28.8, PDTCH(MCS-1, MCS-2, MCS-3, MCS-4, MCS-5, MCS-6, MCS-7, MCS-8, MCS-9, UAS-7, UAS-8, UAS-9, UAS-10, UAS-11, UBS-5, UBS-6, UBS-7, UBS-8, UBS-9, UBS-10, UBS-11, UBS-12), SACCH/TP, O-FACCH/H, O-FACCH/F

G5 = 1 + D + D4 + D6
TCH/HS, TCH/AFS, TCH/AHS, O-TCH/AHS, O-TCH/WFS, O-TCH/WHS, E-TCH/F32.0, PDTCH(MCS-1, MCS-2, MCS-3, MCS-4, MCS-5, MCS-6, MCS-7, MCS-8, MCS-9, UAS-7, UAS-8, UAS-9, UAS-10, UAS-11, UBS-5, UBS-6, UBS-7, UBS-8, UBS-9, UBS-10, UBS-11, UBS-12), O-FACCH/H, O-FACCH/F

G6 = 1 + D + D2 + D3 + D4 + D6
TCH/HS, TCH/AFS, TCH/AHS, O-TCH/AHS, O-TCH/WFS, O-TCH/WHS, O-FACCH/H, O-FACCH/F
G7= 1 + D + D2 + D3 + D6
O-TCH/AHS, O-TCH/WFS, O-TCH/WHS, E-TCH/F43.2, E-TCH/F32.0, E-TCH/F28.8, PDTCH(MCS-1, MCS-2, MCS-3, MCS-4, MCS-5, MCS-6, MCS-7, MCS-8, MCS-9, UAS-7, UAS-8, UAS-9, UAS-10, UAS-11, UBS-5, UBS-6, UBS-7, UBS-8, UBS-9, UBS-10, UBS-11, UBS-12), SACCH/TP, O-FACCH/H, O-FACCH/F
G8 = 1 + D2 + D3
PDTCH(DAS-5, DAS-6, DAS-7, DAS-8, DAS-9, DAS-10, DAS-11, DAS-12, DBS-5, DBS-6, DBS-7, DBS-8, DBS-9, DBS-10, DBS-11, DBS-12)

G9 = 1 + D + D3
PDTCH(DAS-5, DAS-6, DAS-7, DAS-8, DAS-9, DAS-10, DAS-11, DAS-12, DBS-5, DBS-6, DBS-7, DBS-8, DBS-9, DBS-10, DBS-11, DBS-12)
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Block rectangular interleaving�In: 1664 bits�Out: 1664 bits�5.1a.n.6





Block rectangular interleaving�In: 136 bits�Out: 136 bits�5.1a.n.6





Conv code�K=7�R=30/78�In: 30 bits�Out: 78 bits�5.1a.3.4





Turbo code�K=4�rate=r�In: Q1 bits�Out: 1664 or 1586 bits�5.1a.n.4





Conv code�K=7�rate=46/136�In: 46 bits�Out: 136 bits�5.1a.19.3





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 38 bits�Out: 46 bits�5.1a.19.3





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





RLC block�41+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=19-20)





Encryption unit





Interface 4





Partitioning + code identifier�In: 1384 bits�Out: 4 blocks�5.1.9.1.6





Block rectangular interleaving�In: 1248 bits�Out: 1248 bits�5.1.9.1.5





Interface 3





Block rectangular interleaving�In: 100 bits�Out: 100 bits�5.1.9.1.5





Conv code�K=7�R=30/78�In: 30 bits�Out: 78 bits�5.1a.3.4





Turbo code�K=4�rate=r�In: Q1 bits�Out: 1248 or 1170 bits�5.1a.n.4





Conv code�K=7�rate=33/100�In: 33 bits�Out: 100 bits�5.1.9.1.3





Interface 2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 25 bits�Out: 33 bits�5.1.9.1.3





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





Interface 1





RLC block�28+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=16-18)





Interface 0





Partitioning + code identifier�In: 1848 bits�Out: 4 blocks�5.1a.14.6





Block rectangular interleaving�In: 2540 bits�Out: 2540 bits�5.1a.n.5





Block rectangular interleaving�In: 208 bits�Out: 208 bits�5.1a.n.5





Conv code�K=7�R=30/80�In: 30 bits�Out: 80 bits�5.1a.8.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 2540 or 2460 bits�5.1a.n.3





Conv code�K=7�rate=72/208�In: 72 bits�Out: 208 bits�5.1a.14.2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 64 bits�Out: 72 bits�5.1a.14.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.n.3





RLC block�64+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=14-15)





Encryption unit





Interface 4





Partitioning + code identifier�In: 2580 bits�Out: 4 blocks�5.1a.13.6





Block rectangular interleaving�In: 2580 bits�Out: 2580 bits�5.1a.13.5





Interface 3





Block rectangular interleaving�In: 168 bits�Out: 168 bits�5.1a.13.5





Conv code�K=7�R=30/84�In: 30 bits�Out: 84 bits�5.1a.12.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 2580 or 2496 bits�5.1a.13.3





Conv code�K=7�rate=60/168�In: 60 bits�Out: 168 bits�5.1a.13.2





Interface 2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.12.4





Cyclic code�(no tail)�In: 52 bits�Out: 60 bits�5.1a.13.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.13.3





Interface 1





RLC block�52+Q0 (+20 or 25) bits�5.1a.13.1





PDTCH (n=13)





Interface 0





Partitioning + code identifier�In: 2200 bits�Out: 4 blocks�5.1a.12.6





Block rectangular interleaving�In: 2016 bits�Out: 2016 bits�5.1a.12.5





Block rectangular interleaving�In: 184 bits�Out: 184 bits�5.1a.12.5





Conv code�K=7�R=30/84�In: 30 bits�Out: 84 bits�5.1a.12.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 2016 or 1932 bits�5.1a.12.3





Conv code�K=7�rate=60/184�In: 60 bits�Out: 184 bits�5.1a.12.2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.12.4





Cyclic code�(no tail)�In: 52 bits�Out: 60 bits�5.1a.12.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.12.3





RLC block�52+Q0 (+20 or 25) bits�5.1a.12.1





PDTCH (n=12)





Partitioning + code identifier�In: 2200 bits�Out: 4 blocks�5.1a.10.6





Block rectangular interleaving�In: 2056 bits�Out: 2056 bits�5.1a.10.5





Block rectangular interleaving�In: 144 bits�Out: 144 bits�5.1a.10.5





Conv code�K=7�R=30/80�In: 30 bits�Out: 80 bits�5.1a.8.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 2056 or 1976 bits�5.1a.n.3





Conv code�K=7�rate=48/144�In: 48 bits�Out: 144 bits�5.1a.10.2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.10.4





Cyclic code�(no tail)�In: 40 bits�Out: 48 bits�5.1a.10.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.n.3





RLC block�40+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=10-11)





Encryption unit





Interface 4





Partitioning + code identifier�In: 1096 bits�Out: 4 blocks�5.1a.8.6





Block rectangular interleaving�In: 988 bits�Out: 988 bits�5.1a.8.5





Interface 3





Block rectangular interleaving�In: 108 bits�Out: 108 bits�5.1a.8.5





Conv code�K=7�R=30/80�In: 30 bits�Out: 80 bits�5.1a.8.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 988 or 908 bits�5.1a.n.3





Conv code�K=7�rate=49/108�In: 49 bits�Out: 108 bits�5.1a.8.2





Interface 2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.8.4





Cyclic code�(no tail)�In: 29 bits�Out: 37 bits�5.1a.8.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.n.3





Interface 1





RLC block�29+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=8-9)





Interface 0





Partitioning + code identifier�In: 1848 bits�Out: 4 blocks�5.1a.6.6





Block rectangular interleaving�In: 1680 bits�Out: 1680 bits�5.1a.n.5





Block rectangular interleaving�In: 168 bits�Out: 168 bits�5.1a.n.5





Conv code�K=7�R=30/78�In: 30 bits�Out: 78 bits�5.1a.3.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 1680 or 1602 bits�5.1a.n.3





Conv code�K=7�rate=60/168�In: 60 bits�Out: 168 bits�5.1a.6.2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 52 bits�Out: 60 bits�5.1a.6.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.n.3





RLC block�52+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=6-7)





Encryption unit





Interface 4





Partitioning + code identifier�In: 1848 bits�Out: 4 blocks�5.1a.3.6





Block rectangular interleaving�In: 1712 bits�Out: 1712 bits�5.1a.3.5





Interface 3





Block rectangular interleaving�In: 136 bits�Out: 136 bits�5.1a.3.5





Conv code�K=7�R=30/78�In: 30 bits�Out: 78 bits�5.1a.3.4





Conv code�K=7�rate=r�In: Q1 bits�Out: 1712 or 1634 bits�5.1a.n.3





Conv code�K=7�rate=49/136�In: 49 bits�Out: 136 bits�5.1a.3.2





Interface 2





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 41 bits�Out: 49 bits�5.1a.3.2





Cyclic code�+tail�In: Q0 bits�Out: Q1 bits�5.1a.n.3





Block rectangular interleaving�In: 168 bits�Out: 168 bits�5.1a.29.6





Conv code�K=7�R=30/78�In: 30 bits�Out: 78 bits�5.1a.3.4





Turbo code�K=4�rate=r�In: Q1 bits�Out: 2499 or 2421 bits�5.1a.n.4





Conv code�K=7�rate=58/136�In: 58 bits�Out: 168 bits�5.1a.28.3





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.3.4





Cyclic code�(no tail)�In: 50 bits�Out: 58 bits�5.1a.28.3





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





RLC block�53+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=29)





PDTCH (n=31)





Encryption unit





Interface 4











Partitioning + code identifier�In: 2748 bits�Out: 4 blocks�5.1a.30.7





Interface 3





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





Block rectangular interleaving�In: 2480 bits�Out: 2480 bits�5.1a.31.6





Block rectangular interleaving�In: 188 bits�Out: 188 bits�5.1a.30.6





RLC block�65+Q0 (+20 or 25) bits�5.1a.n.1





Interface 2





Conv code�K=7�R=30/56�In: 30 bits�Out:56 bits�5.1a.31.5





Turbo code�K=4�rate=r�In: Q1 bits�Out: 2480 or 2424 bits�5.1a.n.4





Conv code�K=7�rate=70/188�In: 70 bits�Out: 188 bits�5.1a.30.3





Interface 1





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.31.5





Cyclic code�(no tail)�In: 62 bits�Out: 70 bits�5.1a.30.3





Interface 0





Partitioning + code identifier�In: 2200 bits�Out: 4 blocks�5.1a.26.7





Block rectangular interleaving�In: 1992 bits�Out: 1992 bits�5.1a.26.6





Block rectangular interleaving�In: 144 bits�Out: 144 bits�5.1a.26.6





Conv code�K=7�R=30/80�In: 30 bits�Out: 80 bits�5.1a.8.4





Turbo code�K=4�rate=r�In: Q1 bits�Out: 1992 or 1912 bits�5.1a.n.4





Conv code�K=7�rate=46/136�In: 46 bits�Out: 144 bits�5.1a.26.3





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.8.4





Cyclic code�(no tail)�In: 38 bits�Out: 46 bits�5.1a.26.3





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





RLC block�41+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=26-27)





Block code�In: 3 bits�Out: 32 bits�5.1a.24.2





RLC block�53+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=28)





Interface 1





RLC block�41+Q0 (+20 or 25) bits�5.1a.n.1





PDTCH (n=3-5)





Interface 0





Block rectangular interleaving�In: 2499 bits�Out: 2500 bits�5.1a.29.6





Partitioning + code identifier�In: 2748 bits�Out: 4 blocks�5.1a.29.7





PDTCH (n=30)





RLC block�65+Q0 (+20 or 25) bits�5.1a.n.1





Cyclic code��In: Q0 bits�Out: Q1 bits�5.1a.n.4





Cyclic code�(no tail)�In: 62 bits�Out: 70 bits�5.1a.30.3





Cyclic code�(no tail)�In: 20 or 25 bits�Out: 30 bits�5.1a.8.4





Conv code�K=7�rate=70/188�In: 70 bits�Out: 188 bits�5.1a.30.3





Turbo code�K=4�rate=r�In: Q1 bits�Out: 2480 or 2400 bits�5.1a.n.4





Conv code�K=7�R=30/80�In: 30 bits�Out: 80 bits�5.1a.8.4





Block rectangular interleaving�In: 188 bits�Out: 188 bits�5.1a.30.6





Block rectangular interleaving�In: 2480 bits�Out: 2480 bits�5.1a.30.6





Partitioning + code identifier�In: 2748 bits�Out: 4 blocks�5.1a.30.7





Block code�In: 3 bits�Out: 80 bits�5.1a.29.2
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